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IRILE  [#)lh 2 2] 100.0% 1 50.0% 1 50.0% 1 0 0 0.0%
RFE |t 6 6] 100.0% 3|  50.0% 3|  50.0% 0 3 0 0.0%
IRIKE  [f7AT 4 4] 100.0% 2|  50.0% 2| 50.0% 2 0 0 0.0%
RBE |$RHET 0
IZRBE  [O<IEH ST 5 5| 100.0% 5 100.0% 0 0.0% 0 0 0 0.0%
*BE |NEFH 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
RBIE [ ER TR AT 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
FEE | EREEAZERT 0
RIE (B SRIER L B AT 0
RME  [IRWEEER 3 3| 100.0% 2|  66.7% 0 0.0% 0 0 1 33.3%
RBE  [AZEBLAFHT 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
RBE  |TEEERE AT 17 16]  94.1% 0 0.0% 15|  88.2% 15 0 2] 11.8%
IRILIE [ FESCERRA R AT 7 7] 100.0% 1 14.3% 4] 57.1% 2 2 2| 28.6%
RS | FEECER AT N ET 0
RIE  [$ESRER/\ T BT 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
FHE |[REEBAE 3 3] 100.0% 0 0.0% 3] 100.0% 0 3 0 0.0%
IRIKE IS ERIEET 2 2| 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%
EZT I E A= 1 1] 100.0% 0 0.0% 0 0.0% 0 0 1] 100.0%

&t 474 442|  93.2% 176 37.1% 196  41.4% 106 90 102 21.5%
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SEENELERRA—NT YT (Ef2243A31BEA)

N, . s B&fE T8I | 2n = o = [23FE | (REXIE| 2 n
ﬂalﬁkﬁ X BTHT i 2 H233 = s /= EHY |25 25 E k= | |ximiE =
AR [FH=t 82 74| 90.2% 39]  47.6% 15|  18.3% 3 12 28] 34.1%
HEAE |EFhH 30 28]  93.3% 27|  90.0% 3] 10.0% 1 2 0 0.0%
HAE |HATH 3 3| 100.0% 2|  66.7% 1 33.3% 0 1 0 0.0%
AR [EEH 7 7| 100.0% 2| 28.6% 4] 57.1% 2 2 1] 14.3%
AR [EEATh 5 5] 100.0% 5] 100.0% 0 0.0% 0 0 0 0.0%
iEAE  |[HXm 14 14| 100.0% 14| 100.0% 0 0.0% 0 0 0 0.0%
HEAE  [hUh 13 12 92.3% 7] 53.8% 3] 23.1% 2 1 3] 23.1%
EAE |[EREm 3 3] 100.0% 1] 33.3% 2| 66.7% 0 2 0 0.0%
AR [KHEETH 14 13| 92.9% 11 78.6% 2] 14.3% 2 0 1 7.1%
HAE |[Xiki 17 16]  94.1% 10| 58.8% 2] 11.8% 1 1 5] 29.4%
AL [FBEERT 9 9] 100.0% 5|  55.6% 1 11.1% 1 0 3] 33.3%
HAE |[&Koh 10 9] 90.0% 8|  80.0% 1 10.0% 0 1 1 10.0%
AL [EEILTH 1 1] 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%
HAE |[T%Hm 4 4] 100.0% 0 0.0% 1 25.0% 0 1 3]  75.0%
AL [ARERE=)IET 2 2| 100.0% 0 0.0% 1 50.0% 0 1 1 50.0%
MEARE [ ¥R ERFE A AT 0
AR [FEERAEFE] 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
AL '*”" = ER A BT 1 1] 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
HEA R *”“ & 2 BT 0
AR '*”" BRI EET 1 1] 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
AR ‘F%rs 5 20 A BT 0
IMARE [TEE EREFAHT 8 8] 100.0% 4] 50.0% 3] 37.5% 2 1 1 12.5%
IMEARE [ THEERE AT 0
MAE [IEAEIERE 6 6] 100.0% 4] 66.7% 1 16.7% 0 1 1 16.7%
AR [EREEIERAT 2 2] 100.0% 2] 100.0% 0 0.0% 0 0 0 0.0%
iFAE | ARZEERARZEMT 4 4] 100.0% 1| 25.0% 0 0.0% 0 0 3] 75.0%
NI il 4 4] 100.0% 4] 100.0% 0 0.0% 0 0 0 0.0%

&t 241 227 94.2% 147|  61.0% 43|  17.8% 15 28 51|  21.2%
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SEENELERRA—NT YT (Ef2243A31BEA)

N, . s B&fE T8I | 2n = A = [23FE | (REXIE| 2 n
EBERFE (HXETH i 2 H23.3 = L% /= EHY |25 224 E k= | |ximiE =
HEE |ailAm 191 173] 90.6% 161  84.3% 23] 12.0% 12 11 7 3.7%
HEER |[S&Hm 195 176]  90.3% 126  64.6% 34|  17.4% 17 17 35|  17.9%
HEE |WR4Eh 32 29| 90.6% 24]  75.0% 3 9.4% 0 3 5| 15.6%
HEE |[FPEhH 49 49  100.0% 48]  98.0% 1 2.0% 1 0 0 0.0%
HEE |AHM 43 39]  90.7% 23|  53.5% 8| 18.6% 4 4 12]  27.9%
HEERE |[BAM 21 19 90.5% 16]  76.2% 4] 19.0% 2 2 1 4.8%
HEE [fE#Mm 14 13 92.9% 9] 64.3% 4] 28.6% 2 2 1 7.1%
HEERE UM 18 17]  94.4% 13 72.2% 5  27.8% 1 4 0 0.0%
EEE |[ERA® 13 12 92.3% 7| 53.8% 3] 23.1% 1 2 3] 23.1%
HEE |[=[@m 9 9] 100.0% 8| 88.9% 0 0.0% 0 0 1 11.1%
BEE |[Z4Hh 15 14| 93.3% 9] 60.0% 2| 13.3% 2 0 4] 26.7%
BEE |#LY 4 4| 100.0% 3|  75.0% 1 25.0% 0 1 0 0.0%
HEE |[dHEHERMA 1 1] 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
HEERE |tHEISMET 2 2| 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%
HESE |[ZHHMEHHM 0
HER 52]’35**/)11.57 0
HEE |HZEIT{HA 2 2| 100.0% 1 50.0% 1 50.0% 1 0 0 0.0%
HEER EREE At 0
EFTIEES SE I 0
FEEE | ES A2 50 7 7| 100.0% 4  57.1% 1 14.3% 1 0 2|  28.6%
BEEE | iiﬁﬁﬁiﬂﬁ T 0
BEEE |[EEHEEH 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
BHEE |[EEEEAT 2 2] 100.0% 0 0.0% 0 0.0% 0 0 2| 100.0%
HEE |[BEEHSILM 3 3] 100.0% 3| 100.0% 0 0.0% 0 0 0 0.0%
HEE |EZHMREZIR 10 9] 90.0% 9]  90.0% 0 0.0% 0 0 1 10.0%
HER Fl Egﬂﬁfnn ] 0
HEE |RER)IBEH 0
HEE |FIREREEFIH 1 1| 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
HEE |FIEERA7ZiH A HT 5 5| 100.0% 0 0.0% 1 20.0% 1 0 4] 80.0%
BEE |[AREFEHET 2 2| 100.0% 1 50.0% 1 50.0% 1 0 0 0.0%
HEE |BENRSHE 0
HEE |=ZEREAFIET 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
HEE |BZITHHEEAT 2 2] 100.0% 1] 50.0% 1] 50.0% 1 0 0 0.0%
HEE |BEMARHE 3 3] 100.0% 2|  66.7% 1 33.3% 0 1 0 0.0%
HERE |[BENSER 0

&t 646 595  92.1% 472  73.1% 96| 14.9% 47 49 78]  12.1%
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REEEXNRAREERO—FY YT (Ek2243A3188%)

N . = B#lE N L DZ TV N = s = |28FE | [REXIX| 20
EBERFE (HXETH i 2 H23.3 /= L% 28 FHEHY |FE 225 E k= | |ximiE 28
BEE [SV-FhfaX 16 15|  93.8% 5  31.3% 7] 43.8% 4 3 4] 250%
BERE [SLEFmER 74 67|  90.5% 38|  51.4% 26  35.1% 17 9 10  13.5%
BEE [SLV-FHKERX 82 74| 90.2% 30| 36.6% 35|  42.7% 23 12 17]  20.7%
BEE [SWVEFHRBR 48 44 91.7% 16|  33.3% 25|  52.1% 15 10 7] 14.6%
BEE [SWV-FhPRRX 40 36]  90.0% 22|  55.0% 9] 225% 5 4 9]  225%
BER [SOEFmERX 50 45| 90.0% 12|  24.0% 29|  58.0% 13 16 9]  18.0%
BEE [SW-FhER 120 108]  90.0% 66 55.0% 30 25.0% 23 7 24| 20.0%
BER [SWFmERX 94 85|  90.4% 40|  42.6% 29]  30.9% 21 8 25|  26.6%
BEE [SWV-FhiKZEX 30 27]  90.0% 8  26.7% 13]  43.3% 11 2 9] 30.0%
BERE [SOVE-FHEBR 22 20(  90.9% 7| 31.8% 11 50.0% 8 3 4 18.2%
BEE  |JI#H 125 113]  90.4% 62|  49.6% 50 40.0% 21 29 13]  10.4%
BER [gEam 81 73] 90.1% 27]  33.3% 14]  17.3% 8 6 40| 49.4%
BEE |IAHm 237 214]  90.3% 129]  54.4% 59  24.9% 39 20 49 20.7%
BEE [|fTEHW 12 11 91.7% 1 8.3% 5] 41.7% 4 1 6]  50.0%
BEE |HMRh 21 19|  90.5% 13  61.9% 2 9.5% 1 1 6]  28.6%
BER |fRiR™ 127 115]  90.6% 61]  48.0% 42| 33.1% 19 23 24]  18.9%
IHEE |8REEmh 19 18] 94.7% 13|  68.4% 2] 10.5% 2 0 4] 21.1%
BEE |pnZEh 32 29| 90.6% 9]  28.1% 20|  62.5% 7 13 3 9.4%
BEE |AEM 22 20]  90.9% 12|  545% 3] 13.6% 2 1 7] 31.8%
BER [EHUFH 33 30[  90.9% 22|  66.7% 8|  24.2% 1 7 3 9.1%
BEE |HEBAET 104 94  90.4% 36 34.6% 40|  38.5% 33 7 28] 26.9%
BERE [Blm 53 48]  90.6% 38|  71.7% 4 7.5% 4 0 11 20.8%
HEE |PEH 4 4] 100.0% 1] 25.0% 0 0.0% 0 0 3] 75.0%
BER [BEM 39 36]  92.3% 16]  41.0% 10]  25.6% 5 5 13| 33.3%
HEE |FESH 38 35| 92.1% 15|  39.5% 9] 23.7% 2 7 14| 36.8%
BEE |LEW 65 59|  90.8% 26]  40.0% 26]  40.0% 13 13 13|  20.0%
BEE  |Emmh 63 57| 90.5% 25  39.7% 26  41.3% 10 16 12]  19.0%
BER |[Ham 90 81]  90.0% 51|  56.7% 28]  31.1% 17 11 1] 12.2%
BERE |Fh 59 54]  91.5% 37|  62.7% 7] 11.9% 4 3 15|  25.4%
BER |FHM 92 83]  90.2% 27|  29.3% 36  39.1% 17 19 29|  31.5%
BEE | ARH 58 53]  91.4% 32| 55.2% 13  22.4% 4 9 13]  22.4%
BER |IByah 18 17]  94.4% 12|  66.7% 3 16.7% 1 2 3] 16.7%
BEE =W 68 62|  91.2% 41| 60.3% 10]  14.7% 5 5 17]  25.0%
BEE |EARWH 34 31 91.2% 21|  61.8% 1] 32.4% 4 7 2 5.9%
BEE |f%H 41 37| 90.2% 21|  51.2% 10 24.4% 6 4 10 24.4%
BER |#EH 65 59|  90.8% 27|  41.5% 28]  43.1% 12 16 10]  15.4%
BEE |Rlh 28 26]  92.9% 17| 60.7% 6]  21.4% 3 3 5] 17.9%
BER |AEm 4 37| 90.2% 13|  31.7% 11]  26.8% 7 4 17]  41.5%
BEE [dAFm 16 15]  93.8% 8]  50.0% 3] 18.8% 1 2 5| 31.3%
BEE |J\Eh 18 17 94.4% 4] 22.% 10| 55.6% 6 4 4] 22.2%
BEE |EXRm 53 48]  90.6% 28] 52.8% 5 9.4% 2 3 20]  37.7%
BEE |[=8m 61 55| 90.2% 16]  26.2% 17]  27.9% 7 10 28]  45.9%
BEE |EHM 14 13| 92.9% 6] 42.9% 4  28.6% 3 1 4] 28.6%
BEE [REW 22 20| 90.9% 10|  45.5% 7] 31.8% 3 4 5] 22.7%
BEE |FEFH 14 13 92.9% 5|  35.7% 4] 28.6% 2 2 5| 35.7%
BERE |y B 21 19]  90.5% 12|  57.1% 7] 33.3% 3 4 2 9.5%
BEE |[Bam 6 6] 100.0% 2| 33.3% 2| 33.3% 1 1 2| 33.3%
BER |FIF 29 27]  93.1% 5  17.2% 15  51.7% 13 2 9]  31.0%
HEE |SCHFHH 31 28]  90.3% 19] 61.3% 2 6.5% 1 1 10]  32.3%
BEE |4k RS ERREET 11 10| 90.9% 1 9.1% 2| 18.2% 0 2 8|  72.7%
HEE |[ARME=5HE] 13 12| 92.3% 5|  38.5% 5|  38.5% 2 3 3] 23.1%
BEE | ARBMEESILET 5 5| 100.0% 3|  60.0% 1 20.0% 1 0 1 20.0%
BEE | AMERHAR 3 3| 100.0% 1 33.3% 2| 66.7% 1 1 0 0.0%
BEE [t ERE)IIET 1 1| 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
BEE  [teEREILET 1 1| 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%
BEE [t ER/NIIET 6 6] 100.0% 2] 33.3% 2] 33.3% 0 2 2] 33.3%
BEE [LeEI ST 3 3| 100.0% 0 0.0% 3| 100.0% 3 0 0 0.0%
BERE [LOEBSREAE 2 2| 100.0% 1 50.0% 0 0.0% 0 0 1 50.0%
BEE [thERELET 0
BER [LEEEEADHE 0
BEE |MREMERERET 1 1] 100.0% 0 0.0% 0 0.0% 0 0 1] 100.0%
BEE [ REPEEE 12 11 91.7% 7| 58.3% 1 8.3% 0 1 4] 33.3%
BEE |MREREET 2 2| 100.0% 0 0.0% 0 0.0% 0 0 2] 100.0%
BEE [RRE/DEEEFET 2 2| 100.0% 1 50.0% 0 0.0% 0 0 1 50.0%
BEE |[BRXEERBRXA 0
BEE [REEEER 2 2| 100.0% 1 50.0% 1 50.0% 1 0 0 0.0%
IHEE ['REER#IET 2 2] 100.0% 1] 50.0% 1] 50.0% 1 0 0 0.0%
BEE [REAEEE 6 6] 100.0% 1 16.7% 1 16.7% 0 1 4] 66.7%
BEE | KEREERE 7 7] 100.0% 2] 28.6% 4] 57.1% 1 3 1 14.3%
BEE |FISEREAE 9 9] 100.0% 1 11.1% 5|  55.6% 4 1 3|  33.3%
BEE |FEiISEA S AT 18 17 94.4% 7] 38.9% 9]  50.0% 1 8 2] 11.1%
BEE |[dEHHEEERE 23 21]  91.3% 10|  43.5% 10]  43.5% 4 6 3] 13.0%
BERE | EEREFNRET 7 7] 100.0% 2]  28.6% 4] 57.1% 1 3 1 14.3%

&t 2,666 2427  91.0% 1,210|  45.4% 826 31.0% 454| 372 630 23.6%
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HEEREO—RF <y (ER2243A31 ARE)

RIEEERE

I . s BEE 2 T8IV | 2y = A o (23 | (REXIE |2/ a
EBERFE (HXETH i 2 H233 /= s /= FHEHY |FE 2FEE k= | |ximiE =
FTEE [FEHPERX 77 70 90.9% 31|  40.3% 25  32.5% 3 22 21 27.3%
FTEE |[FERERIKX 32 29]  90.6% 14]  43.8% 14]  43.8% 6 8 4 12.5%
TEE [FEHRERX 53 48] 90.6% 10]  18.9% 29| 54.7% 9 20 14]  26.4%
TEE [FETEERX 38 35  92.1% 8  21.1% 20|  52.6% 13 7 10]  26.3%
FEE |FERHRK 33 30(  90.9% 23]  69.7% 2 6.1% 0 2 8] 24.2%
FEE [FEHEEX 15 14|  93.3% 6]  40.0% 3] 20.0% 1 2 6]  40.0%
FEE |8kFH 8 8] 100.0% 3] 37.5% 3] 37.5% 1 2 2| 25.0%
FEE |hllh 198 179]  90.4% 60|  30.3% 41 20.7% 13 28 97  49.0%
FEE |fEh 253 228]  90.1% 78]  30.8% 97|  38.3% 28 69 78] 30.8%
FEE [gEILTH 9 9] 100.0% 2| 22.2% 5|  55.6% 1 4 2| 22.2%
FEE |AEEH 24 22 91.7% 15  62.5% 4  16.7% 1 3 5] 20.8%
FTEE |[WFm 193 174]  90.2% 56] 29.0% 73] 37.8% 7 66 64|  33.2%
FEE |HHEHM 28 26]  92.9% 16]  57.1% 8| 28.6% 2 6 4] 14.3%
FEE |[ERH 33 30]  90.9% 11]  33.3% 10]  30.3% 7 3 12| 36.4%
FEE |BHET 72 65|  90.3% 9]  12.5% 51  70.8% 51 0 12]  16.7%
FEE |EEWH 22 20]  90.9% 10]  45.5% 4] 18.2% 0 4 8| 36.4%
FEE |HewH 17 16]  94.1% 4| 235% 6]  35.3% 6 0 7] 41.2%
FTEE [fBHh 12 11 91.7% 2|  16.7% 8|  66.7% 7 1 2] 16.7%
FEE |BEEHT 74 67|  90.5% 18]  24.3% 35|  47.3% 7 28 21 28.4%
FTEE |[tamh 164 148]  90.2% 66  40.2% 22|  13.4% 2 20 76|  46.3%
FEE |BAm 4 4] 100.0% 1] 25.0% 1] 25.0% 0 1 2| 50.0%
FEE |hE™H 49 45| 91.8% 18]  36.7% 20]  40.8% 8 12 1] 22.4%
FEE [Flh 43 39]  90.7% 15|  34.9% 2 4.7% 1 1 26]  60.5%
FEE [N\FTRmM 37 34  91.9% 18]  48.6% 14|  37.8% 11 3 5  13.5%
FEE |EBRFH 52 47| 90.4% 20]  38.5% 15|  28.8% 9 6 17]  32.7%
FEE [f)ilh 12 1] 91.7% 0 0.0% 1 8.3% 0 1 1] 91.7%
TEE |Br8h 28 26]  92.9% 7] 25.0% 11]  39.3% 0 11 10]  35.7%
FEE |EFEW 32 29| 90.6% 14| 43.8% 17| 53.1% 3 14 1 3.1%
FEE |EZEH 14 13[  92.9% 8]  57.1% 3] 21.4% 0 3 3 21.4%
FEE [H&Rh 45 41| 91.1% 17]  37.8% 12| 26.7% 2 10 16]  35.6%
FTEE |mEm 27 25| 92.6% 17]  63.0% 8] 29.6% 3 5 2 7.4%
TEE |ty Eh 24 22  91.7% 18]  75.0% 6]  25.0% 1 5 0 0.0%
FEE |J\Fh 2 2| 100.0% 1] 50.0% 1] 50.0% 0 1 0 0.0%
FEE |[H#EH 8 8] 100.0% 4| 50.0% 1] 12.5% 1 0 3| 37.5%
FEE |BHT 9 9] 100.0% 8]  88.9% 1 11.1% 1 0 0 0.0%
FEE |[EEW 5 5] 100.0% 0 0.0% 0 0.0% 0 0 5| 100.0%
FEE |FE#RH 0
FEE |MEH 11 10[  90.9% 1 9.1% 10]  90.9% 9 1 0 0.0%
FEE |EWH 67 63| 94.0% 3 4.5% 60  89.6% 60 0 4 6.0%
FEE [ILWKH 37 34| 91.9% 5|  13.5% 30[  81.1% 23 7 2 5.4%
FEE |LWFHH 0
TEE |ENEERE& FET 2 2| 100.0% 1] 50.0% 1] 50.0% 0 1 0 0.0%
FEE  |EFEEREHE] 15 15| 100.0% 0 0.0% 15(  100.0% 15 0 0 0.0%
TEE |[SIWEHIEHE 12 11 91.7% 4] 33.3% 8]  66.7% 6 2 0 0.0%
TEE |EWRESZGHE 32 32| 100.0% 2 6.3% 30]  93.8% 30 0 0 0.0%
TEE |EWEPEEHR 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
FTEE [IWKEBXESEH 6 6] 100.0% 3] 50.0% 2] 33.3% 1 1 1 16.7%
FEE [ILWREBA+AEE 5 5| 100.0% 0 0.0% 5 100.0% 5 0 0 0.0%
FEE [IWEERZ ILET 22 20(  90.9% 2 9.1% 13  59.1% 12 1 7] 31.8%
FEE [ILKEEHZ E 16 15|  93.8% 1 6.3% 12|  75.0% 12 0 3|  18.8%
FEE |REN—=H 2 2] 100.0% 0 0.0% 2] 100.0% 1 1 0 0.0%
TEE |[RAEREERE 0
FEE |[REBRAHN 0
TEE |[RENOFHE 0
FEE |[RERRMKAE 0
TEE |[REEERA 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
FEE |RBEHKXZEHE 0
TEE [HIREPETEE 1 1] 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
FEE |ZEEERE 1 1l 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%

&t 1,977 1,808  91.5% 632 32.0% 763 386% 380 383 582  29.4%

15




ZEREXNRABMEO—NTYT (Er2243A31 BRE)

] . 5 BEfE T8N A A = 23FEE | [REXIE| 2y n
EBERFE (HXETH i 2 H233 = s /= EHY | A 2FEE Cx= | lxmiE =
HRE#&  |[FHRAKX 148 134]  90.5% 53]  35.8% 18] 12.2% 10 8 77| 52.0%
HEAD |hRX 220 198]  90.0% 172  78.2% 7 3.2% 2 5 41 18.6%
E S 313 282]  90.1% 131 41.9% 53] 16.9% 36 17 129]  41.2%

ESt E = 375 338]  90.1% 169]  45.1% 59|  15.7% 34 25 147]  39.2%
BEEE [XEK 288 260 90.3% 188]  65.3% 29 10.1% 19 10 711 247%
HEE |[BERX 440 396]  90.0% 258|  58.6% 42 9.5% 27 15 140  31.8%
HERE#S  |[SHKX 346 312 90.2% 131 37.9% 65 18.8% 38 27 150 43.4%

HE#H [[THEX 353 318]  90.1% 136]  38.5% 88|  24.9% 58 30 129]  36.5%
BRED | 391 352  90.0% 139]  35.5% 63  16.1% 40 23 189  48.3%
HEA |[BERX 262 236  90.1% 93|  35.5% 40  15.3% 24 16 129]  49.2%
HEAD | KEHRX 845 761 90.1% 309]  36.6% 147]  17.4% 96 51 389]  46.0%
HEED |[HEASX 626 564]  90.1% 238]  38.0% 125]  20.0% 52 73 263  42.0%
HRE#S  |EAX 289 261]  90.3% 79  27.3% 72| 24.9% 51 21 138]  47.8%

E I el 545 147 133 90.5% 66|  44.9% 19]  12.9% 13 6 62|  42.2%
5 LA 271 244 90.0% 98|  36.2% 4] 16.2% 25 19 129]  47.6%
HEA |[Z2EX 382 344]  90.1% 200] 52.4% 40  10.5% 24 16 142  37.2%
5t EA 356 321 90.2% 132]  37.1% 96  27.0% 79 17 128]  36.0%
HEAD [N 209 189]  90.4% 96|  45.9% 28]  13.4% 22 6 85  40.7%
BRED |RAER 481 433]  90.0% 203]  42.2% 99]  20.6% 66 33 179]  37.2%

HEA |[BEX 366 330[  90.2% 160]  43.7% 58]  15.8% 39 19 148 40.4%
HEAD |BMRX 604 544 90.1% 166]  27.5% 154|  255% 120 34 284]  47.0%
HEA |BfX 441 397]  90.0% 143|  32.4% 101]  22.9% 79 22 197|  44.7%
HEAD ITRNX 390 351 90.0% 85| 21.8% 103]  26.4% 82 21 202]  51.8%
HE#H |NEFH 211 190 90.0% 121]  57.3% 68] 32.2% 5 63 22| 10.4%
BRE& | 87 79]  90.8% 47]  54.0% 26]  29.9% 12 14 14| 16.1%

HEED |REFT 79 72]  91.1% 31| 39.2% 28]  35.4% 1 27 20]  25.3%
B |[=Em 86 78] 90.7% 29|  33.7% 44 51.2% 12 32 13]  15.1%
BRE  |H#EH 60 54]  90.0% 26  43.3% 19  31.7% 2 17 15  25.0%
HnEh  |FFERm| 140 126]  90.0% 56|  40.0% 55  39.3% 16 39 29 20.7%
Et T 32 29| 90.6% 10]  31.3% 21]  65.6% 8 13 1 3.1%
Et BT 124 112]  90.3% 71| 57.3% 38]  30.6% 9 29 15]  12.1%

Hm#E |ETHET 155 140]  90.3% 71| 45.8% 66  42.6% 31 35 18] 11.6%
RRE  |heHT 47 43| 91.5% 22|  46.8% 17| 36.2% 0 17 8 17.0%
HR#E  |NEH 116 105]  90.5% 39|  33.6% 65  56.0% 36 29 12 10.3%
T 58 53] 91.4% 20]  34.5% 29]  50.0% 5 24 9] 15.5%
HEAD |EMILT 117 106]  90.6% 38| 32.5% 68| 58.1% 47 21 11 9.4%
RRED |ESFh 67 61]  91.0% 24]  35.8% 4] 61.2% 14 27 2 3.0%

HR#  |Eih 47 43| 91.5% 1] 23.4% 26|  55.3% 11 15 10]  21.3%
RIRED |fRA&ETH 32 29| 90.6% 8]  25.0% 20]  62.5% 7 13 4] 12.5%
HE#E  |RiIh 44 40 90.9% 26|  59.1% 11| 25.0% 4 7 7] 15.9%
S E PN 32 29| 90.6% 8]  25.0% 23] 71.9% 18 5 1 3.1%
RRAD |BEh 46 42| 91.3% 15|  32.6% 26]  56.5% 15 11 5] 10.9%
BRED  |RABRKT 49 45| 91.8% 22|  44.9% 25 51.0% 12 13 2 4.1%

HEAD |REHILT 23 21]  91.3% 15|  65.2% 8]  34.8% 0 8 0 0.0%
B |BEMW 77 70 90.9% 27|  35.1% 47| 61.0% 7 40 3 3.9%
HEREE TR 11 10[  90.9% 6] 54.5% 4]  36.4% 0 4 1 9.1%
RIRED | P 20 18] 90.0% 9]  45.0% 6]  30.0% 0 6 5| 25.0%
REE | H=BFHH 15 14]  93.3% 8| 53.3% 5  33.3% 1 4 2|  13.3%
BIRED |FEERT 134 121]  90.3% 47]  35.1% 80]  59.7% 49 31 7 5.2%

HRAD | LRI TEET 8 8| 100.0% 1 12.5% 6]  75.0% 5 1 1 12.5%
HE#A |FAZEEHQHET 6 6] 100.0% 2] 33.3% 3] 50.0% 0 3 1 16.7%
HEAD (L EEREEA 0
BIRED | TE R EERRER % EERT 0
0 PN 2 2| 100.0% 0 0.0% 2| 100.0% 1 1 0 0.0%
HE#S |FEH 0

0 B E =L 0
BRED | SR 0
HRHE  |==H 0
BORED | RS 0
HmE  |J\SCHET 0
HER# |Freft 0
RE#E NSRS 0

‘ 10,468 9,444  90.2% 4255| 40.6% 2,427 232% 12364] 1,063 3786| 36.2%
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2 ===, =, N O s
ZEEES M RAFERRO—F YYD (ER2243831B8%E)

HBERIR RATH mam | (R ge | WISV lae | HEsy (w2 omm |BIE| (XEXE|0s
#AENIE BEHERX 120 108]  90.0% 35  29.2% 51  42.5% 0 51 34 28.3%
#HE)IE [BETAE)IIX 118 107]  90.7% 54|  45.8% 33| 28.0% 3 30 31 26.3%
#ME)IE [HEEHFEX 19 18] 94.7% 6] 31.6% 3] 15.8% 0 3 10]  52.6%
)R [BEHRPR 72 65|  90.3% 23]  31.9% 26]  36.1% 5 21 23] 31.9%
HE)IE HEEHEX 47 43| 91.5% 24]  51.1% 1] 23.4% 1 10 12]  255%
#HE)IE BEHREISTARX 79 72]  91.1% 35  44.3% 24|  30.4% 7 17 20]  25.3%
HEIE EEHEFX 40 36| 90.0% 13|  32.5% 18] 45.0% 0 18 9] 22.5%
#HE)R BEHERX 55 50|  90.9% 30] 54.5% 12| 21.8% 0 12 13| 23.6%
) E [BERELR 168 152]  90.5% 62|  36.9% 59|  35.1% 6 53 47| 28.0%
#HE)R BEHREX 103 93] 90.3% 44| 42.7% 4] 39.8% 1 40 18]  17.5%
=S [FBIEhERK 90 81]  90.0% 36]  40.0% 24| 26.7% 9 15 30[  33.3%
#HE)E [BERBX 52 47| 90.4% 21| 40.4% 18]  34.6% 1 17 13| 25.0%
HE)IE [EEHHZX 121 109]  90.1% 37]  30.6% 50]  41.3% 6 44 34 28.1%
#HE)R BEHEAX 38 35 92.1% 19|  50.0% 9]  23.7% 2 7 10]  26.3%
HE)IE BEHEX 23 21]  91.3% 5] 21.7% 12|  52.2% 1 11 6]  26.1%
#HENE BERRX 10 9] 90.0% 3] 30.0% 6]  60.0% 0 6 1 10.0%
FHENE BETFTERX 53 48] 90.6% 24]  45.3% 15|  28.3% 1 14 14]  26.4%
#HE)IE [HEHERE 28 26]  92.9% 11]  39.3% 8] 28.6% 0 8 9]  32.1%
)18 [N )IEX 198 179]  90.4% 52|  26.3% 71| 35.9% 8 63 75| 37.9%
HE)IE BHER 80 72 90.0% 22|  27.5% 26]  32.5% 8 18 32| 40.0%
#=)IE [JIEHPER 207 187]  90.3% 51|  24.6% 74| 35.7% 5 69 82|  39.6%
MR BT EER 163 147]  90.2% 53| 32.5% 47|  28.8% 6 41 63|  38.7%
w=)IE [JIBEHEER 118 107]  90.7% 39|  33.1% 36]  30.5% 7 29 43| 36.4%
=) B HEaIX 104 94 90.4% 18]  17.3% 49 47.1% 10 39 37| 35.6%
IR [T ERE X 25 23] 22.8% 4] 16.0% 8| 32.0% 1 7 13 52.0%
=8 BB T 101 91]  90.1% 40|  39.6% 30]  29.7% 0 30 31 30.7%
w=)E [FiEm 93 84| 90.3% 41 44.1% 29| 31.2% 0 29 23] 24.7%
HR)E [BEH 36 33| 91.7% 14|  38.9% 6]  16.7% 2 4 16]  44.4%
#Z=)IE R 149 135]  90.6% 68|  45.6% 38]  25.5% 2 36 43]  28.9%
E=)IE /NRRS 57 52|  91.2% 17]  29.8% 16]  28.1% 5 11 24 42.1%
#MENE |FyiGH 75 68|  90.7% 37| 49.3% 21| 28.0% 3 18 17]  22.7%
NG [EFhH 19 18] 94.7% 11|  57.9% 2] 10.5% 0 2 6]  31.6%
=S [ E T 336 303]  90.2% 136]  40.5% 94]  28.0% 6 88 106]  31.5%
#HE)IR |=FHh 6 6] 100.0% 3] 50.0% 0 0.0% 0 0 3] 50.0%
#HEIE | =% 39 36]  92.3% 12]  30.8% 10]  25.6% 3 7 17]  43.6%
#E)E |[ERTH 87 79]  90.8% 33  37.9% 18] 20.7% 2 16 36]  41.4%
LEEIN-APN G 156 141]  90.4% 54|  34.6% 66  42.3% 10 56 36| 23.1%
#H=)E [FEET 46 42| 91.3% 31|  67.4% 5| 10.9% 2 3 10 21.7%
#HENE EEdh 76 69|  90.8% 25  32.9% 22| 28.9% 0 22 29 38.2%
)8 |EERT 111 100]  90.1% 59|  53.2% 31| 27.9% 1 30 21 18.9%
#HE)IE FEfH 8 8] 100.0% 3] 37.5% 3] 37.5% 1 2 2| 25.0%
)8 ST 25 23] 92.0% 20]  80.0% 2 8.0% 2 0 3] 12.0%
#HE)IE | =HEREE (LIET 9 9] 100.0% 3] 33.3% 3] 33.3% 0 3 3] 33.3%
I8 S EEERE )BT 8 8] 100.0% 5|  62.5% 1 12.5% 0 1 2] 25.0%
IR | ERAREET 8 8| 100.0% 2|  25.0% 2| 25.0% 0 2 4] 50.0%
)18 | B — =T 5 5 100.0% 3] 60.0% 1] 20.0% 0 1 1] 20.0%
#HE)IE | E+FEEB FHET 6 6] 100.0% 3] 50.0% 2] 33.3% 0 2 1 16.7%
=8 | B4 E BB R FHET 1 1] 100.0% 0 0.0% 0 0.0% 0 0 1] 100.0%
HE)IE | F 4K EB# HET 3 3] 100.0% 2] 66.7% 1] 33.3% 1 0 0 0.0%
Z)IE | 4R BRI L BT 0
#HE)IE | F 45+ ZB5A R AT 3 3] 100.0% 2] 66.7% 1] 33.3% 1 0 0 0.0%
=8 | EAAT ERFEARET 2 2| 100.0% 0 0.0% 1] 50.0% 0 1 1] 50.0%
=S | BT AR EERRT 1 1] 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
)18 | B4R T B 5 A [ BT 9 9] 100.0% 5|  55.6% 0 0.0% 0 0 4] 44.4%
HE)IE [SREE )[BT 17 16]  94.1% 9]  52.9% 3 17.6% 1 2 5] 29.4%
HE)E [ZREE)IF 0

&t 3,623 3,288  90.8% 1,359 37.5% 1,140 315% 130 1,010 1,124  31.0%
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SEENELERRA—NT YT (Ef2243A31BEA)

—— ] s B&fE TIOEIN HEH. = [23FE | (REXIE| 2 n
EBERFE (HXETH i 2 H23.3 = L% = HEHY (ZE |[225E k= | |ximiE 28
WWHE  |BpFh 1 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
Wzie |[=+FMEH 0
METCElE G 0
METCSETH 0
IWEE [KAm 0
MET - IET: 1 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
WHE [E7ILTRE 1 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
METC B R 1 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
MET S EETH 0
MECIET S 1 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
METSNE 1 0
METEEITES 0
MET- S 0
MEEI R SR 0
METC =S 0
RS |EEEERR S AT 0
METC S 0
RS  |EEEEAENE )IE 0
IEN Tl =T 0
RIS |EEERER AR E A 0
MEN e =i 0
IWEIE | EEERER AR E B4 0
WWZUIE | EAERER AR L AR 2 100.0% 1] 50.0% 1] 50.0% 1 0 0 0.0%
WIS |EEERES ARNE R4 0
IWZYIE | ERARER AR = o+ in] O AR RT 0
IET! ,,%B“”EB/J\ # 0
ETC BT 0
H 7 100.0% 4  57.1% 3| 42.9% 1 2 0 0.0%
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SEENELEREA—NT YT (Ef2243A31BEA)

o ] = B#&iE TIRI | 2 n = N = [23EE | [REXE] 2/
EBERFE (HXETH i 2 H233 = EEs = EHY |25 25 & k= | |ximig =
FRE |EmAER 8 8] 100.0% 7] 87.5% 0 0.0% 0 0 1 12.5%
MBE |[FBHmRK 52 52| 100.0% 42|  80.8% 4 7.7% 0 4 6] 11.5%
FRE (FEHPRX 211 211]  100.0% 133]  63.0% 40]  19.0% 2 38 38]  18.0%
Bzl %ﬁﬁ‘% hiImX 21 21[  100.0% 19]  90.5% 1 4.8% 0 1 1 4.8%
EE | HER 10 10[  100.0% 7] 70.0% 2] 20.0% 2 0 1 10.0%
FRE | '1 X 6 6] 100.0% 4] 66.7% 2|  33.3% 0 2 0 0.0%
FEE | hfa X 51 51 100.0% 35| 68.6% 10{  19.6% 0 10 6]  11.8%
FRE | %ﬁﬁ‘% hPaE X 7 7| 100.0% 6] 85.7% 0 0.0% 0 0 1 14.3%
BE |EMh 99 99 100.0% 63| 63.6% 26  26.3% 18 8 10]  10.1%
HBERE |=£m 31 31[  100.0% 25|  80.6% 3 9.7% 2 1 3 9.7%
RS |talsTh 44 44 100.0% 25|  56.8% 15|  34.1% 14 1 4 9.1%
MBE  (FHHEMET 48 48| 100.0% 27|  56.3% 18]  37.5% 16 2 3 6.3%
HRE UNFAH 18 18] 100.0% 12|  66.7% 4] 22.2% 4 0 2] 11.1%
FRE  |mxEm 5 5| 100.0% 3|  60.0% 1 20.0% 1 0 1 20.0%
HRE |[+HEH 60 60 100.0% 42| 70.0% 17| 28.3% 17 0 1 1.7%
HBE |RH 10 10 100.0% 6] 60.0% 3|  30.0% 1 2 1 10.0%
FRE |MEW 6 6] 100.0% 5|  83.3% 1 16.7% 0 1 0 0.0%
Ei L Ik 11 11| 100.0% 10]  90.9% 1 9.1% 1 0 0 0.0%
BBE  |[Rf)h 3 3] 100.0% 1] 33.3% 2] 66.7% 2 0 0 0.0%
HRE |WEh 0
HaE |ARW 6 6] 100.0% 5|  83.3% 1 16.7% 0 1 0 0.0%
FriagE | E#Wm 21 21[  100.0% 6] 28.6% 12|  57.1% 5 7 3] 14.3%
FRE BT 6 6] 100.0% 4] 66.7% 2] 33.3% 2 0 0 0.0%
nBERE [EEM 4 4| 100.0% 4] 100.0% 0 0.0% 0 0 0 0.0%
FRE [&AFATh 7 7] 100.0% 3] 42.9% 4] 57.1% 3 1 0 0.0%
EE  |mAadm 15 15| 100.0% 10|  66.7% 4 26.7% 2 2 1 6.7%
;RS  |RBATH 4 4] 100.0% 3] 75.0% 1] 25.0% 1 0 0 0.0%
FinE  |dbEREREEERT 3 3] 100.0% 3| 100.0% 0 0.0% 0 0 0 0.0%
MRS |FEEREARMER 0
HRE |FEEEE LR 0
RS | HHEE AR R 4 4] 100.0% 4] 100.0% 0 0.0% 0 0 0 0.0%
FRE |=EEHEBE 0
FRE |FEAGERSIRET 8 8] 100.0% 4] 50.0% 1 12.5% 0 1 3| 37.5%
FRE |hABEREREE 4 4] 100.0% 4] 100.0% 0 0.0% 0 0 0 0.0%
FiaE [ NEEERNEEF 0
FRE |EMEREIIA 0
FRE | EMEREH 0

&t 783 783 100.0% 522 66.7% 175|  22.3% 93 82 86| 11.0%
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ZEBEEX R RIERZO—NT YT (EHk2243831 AEB%E)

S ] - BHRE |24 TIEI | 2 n = s o (23 | (REXIE |2/ a
EBERFE (HXETH i 2 H23.3 28 L% = FHEHY |FE 225 E k= | |ximig =
EE%,L% E&Hh 72 72| 100.0% 48|  66.7% 16]  22.2% 6 10 8]  11.1%
EHE |[WAXm 16 16[  100.0% 13|  81.3% 1 6.3% 0 1 2| 12.5%
EHE | L'% AT 4 4] 100.0% 2|  50.0% 2] 50.0% 1 1 0 0.0%
EHE [Mam 3 3] 100.0% 2] 66.7% 1] 33.3% 1 0 0 0.0%
Eiﬂi SRATH 15 15| 100.0% 5|  33.3% 10]  66.7% 2 8 0 0.0%
EHFE [FgH 0
EHE | = AR 8 8| 100.0% 7| 87.5% 1 12.5% 0 1 0 0.0%
EHFE [/iEH 2 2| 100.0% 1] 50.0% 0 0.0% 0 0 1] 50.0%
EHE [FHh 0
Eirk.— Bty 4R T 2 2| 100.0% 0 0.0% 2| 100.0% 0 2 0 0.0%
EHE |[hHm 6 6] 100.0% 3] 50.0% 3] 50.0% 2 1 0 0.0%
EE%,E KHATH 3 3] 100.0% 3| 100.0% 0 0.0% 0 0 0 0.0%
%ﬁﬁﬂm 0
EHE [FHW 0
IEHE | LER ERT 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
EHE [EAH 6 6] 100.0% 4] 66.7% 2] 33.3% 0 2 0 0.0%
EHE |Feih 3 3| 100.0% 2|  66.7% 1 33.3% 1 0 0 0.0%
EHE |FH#Hm 0
EE%,L% ZEHH 1 1] 100.0% 0 0.0% 0 0.0% 0 0 1] 100.0%
EHE Bk ABIGH 0
EHE [BEEXAEIIEA 0
Eirkr B AR E 0
EHE 2 Bk A BRI AR 0
EHE |BEEARILERS 0
EHE (Bl ARMEATEET 1 1] 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
EBE [/t AENE FRAT 0
EHE |dEXAEEKEE 0
EHE |dEAZBSIRAT 1 1| 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%
EE%,L% INEBRE ARHT 0
EHE | Lrﬁrﬂﬁfuﬂn 0
EHE | L'% i g 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
EHE | 0
EHFE |#&: 0
Eirkr __13?33325}&27& 0
EHE = (R AR AR 2 s AT 0
EHE | EEINEBRSHT 3 3] 100.0% 0 0.0% 3| 100.0% 0 3 0 0.0%
EHE 2 (R AR AR s A 0
EHE | EFBEFIIA 3 3] 100.0% 0 0.0% 3] 100.0% 0 3 0 0.0%
EE%,L% L FIE = H 4 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
EHE | TEIABEBLIET 3 3] 100.0% 1 33.3% 0 0.0% 0 0 2|  66.7%
EE%,L% TR ARER = 2R AT 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
IEHE [TAARERRE AT 0
EHE | LER TR AR AR A28 0
EHFE [FTHBEBELH 0
EE%,L% TR ARARE T4 0
Eirkr TRIRER T 15H 0
EHE 2 TRIBRTEAM 0
EHFE [FHRIBEBXEEH 0
EHE | 2 TR EEMN 3 3| 100.0% 0 0.0% 3| 100.0% 0 3 0 0.0%
EHFE [FTHBEBEAH 0
EHFE [ FTHEEHEREH 1 1| 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
Eirkr TRIBEXEH 0
EHFE [ REEEHRE 0
EHE | KEHMmASHE 0
EHE [ RAEHAEH 0
EHE [ REBEEA 0
EHE [ REHKREN 0
EHE [ KEHMASH 0
EE%,L% RS B R AR 0
EHE |[HAEBAIRA 0
E%HE = HARER LT 0
EHE |[HHAEEAN 0
EHE [EHERRIA 0
Eirkr db %= Bfith FH ] 0
EHE |dREERIIIA 1 1] 100.0% 0 0.0% 0 0.0% 0 0 1] 100.0%
EHE [TREMHEH 1 1] 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
EE%,L% EREZRNEH 0
EHE | HE T ER SR 1 1] 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%
EEL% L& H AN T 0
EHE | ESHBSLA 0
Eiﬂ% Te=FAL/ NET 3 3| 100.0% 3| 100.0% 0 0.0% 0 0 0 0.0%
EHE |FTEHEBAEEH 0
EHE - TEHBERERA 0
EHFE [ E/KAERSER 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
EHE | EKEE/DMIF 0
Eir‘,—r K R ER 8k 4 BT 0
EFE [FAKREEHR 0

&t 167 167 100.0% 99| 59.3% 53| 31.7% 15 38 15 9.0%
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ZEEEM RABEMRO—F T YT (F2243A31 BEE)

I . s BEE 2 T8IV | 2y = A o (23 | (REXIE |2/ a
EBERFE (HXETH i 2 H23.3 /= L% = FHEHY |FE 224 E k= | |ximig =
EWE |Eilh 279 251]  90.0% 183  65.6% 49 17.6% 16 33 47 16.8%
EWLE [S@EMm 45 4] 91.1% 21| 46.7% 20]  44.4% 14 6 4 8.9%
EWLE |&EFEH 19 18] 94.7% 7] 36.8% 7] 36.8% 3 4 5]  26.3%
EWE kR 5 5 100.0% 4] 80.0% 1] 20.0% 0 1 0 0.0%
EWE [BH 9 9] 100.0% 3] 33.3% 1 11.1% 0 1 5| 55.6%
EWLE [Effm 10 9] 90.0% 6]  60.0% 1] 10.0% 0 1 3] 30.0%
EWE KT 3 3] 100.0% 3] 100.0% 0 0.0% 0 0 0 0.0%
EWE |NEEH 9 9] 100.0% 3|  33.3% 4] 44.4% 1 3 2| 22.2%
EWLE |FElHhm 7 7] 100.0% 5]  71.4% 0 0.0% 0 0 2| 28.6%
EWE  |Hkh 9 9] 100.0% 4] 44.4% 2| 22.2% 1 1 3]  33.3%
EWE  |[IFNIERAHER 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
EWE  [FF)IER LR 5 5| 100.0% 2|  40.0% 1 20.0% 0 1 2| 40.0%
EWLE  |EIEL g BT 4 4 100.0% 2|  50.0% 1 25.0% 0 1 1 25.0%
EWE [TEFHIIEBAZHE 0
IZEWE  [T3)IERsH HET 1 1l 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%

&t 406 372 91.6% 244  60.1% 88| 21.7% 35 53 74| 18.2%
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HEEREO—RF <y (ER2243A31 ARE)

RIEEERE

N . = BEE |24 TIEI | 2 n = s = |28FE | [REXIX | 2/0
EBERFE (HXETH i 2 H23.3 28 L% 28 FHEHY |FE 224 E k= | |ximiE =
FIIE [#Rm 531 478]  90.0% 314  59.1% 116]  21.8% 38 78 101 19.0%
BINE [tEW 4 37| 90.2% 23] 56.1% 11]  26.8% 7 4 7] 17.1%
BINE /AT 47 43]  91.5% 25|  53.2% 7] 14.9% 3 4 15| 31.9%
BIE [%HETH 12 11 91.7% 9]  75.0% 2] 16.7% 1 1 1 8.3%
FIIE  [BMNmH 2 2| 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%
BNE  [mEH 7 7] 100.0% 1] 14.3% 0 0.0% 0 0 6]  85.7%
BIE  |P®H 0
BINE  |MIFETH 7 7] 100.0% 4] 57.1% 2] 28.6% 1 1 1] 14.3%
BINE |Hilhm 14 14] 100.0% 13]  92.9% 1 7.1% 1 0 0 0.0%
BINE  |geEH 13 12[  92.3% 8]  61.5% 5]  38.5% 2 3 0 0.0%
ENE  [8EEER)IILET 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
BIE  [BNIERE < BT 25 23] 92.0% 14|  56.0% 8] 32.0% 3 5 3] 12.0%
BIE [ db ZR i REET 4 4 100.0% 2|  50.0% 1 25.0% 1 0 1 25.0%
BIIE  [5arde BB ET 4 4] 100.0% 3] 75.0% 1] 25.0% 0 1 0 0.0%
BIE  [PIEEREEET 15 14|  93.3% 3|  20.0% 12|  80.0% 12 0 0 0.0%
BIE [P = ZFHKET 3 3| 100.0% 2|  66.7% 1 33.3% 1 0 0 0.0%
BIE |EEEBFEEEET 2 2| 100.0% 1 50.0% 1 50.0% 0 1 0 0.0%
BIE  |[EIERERINIKET 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
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HREITH 16 15[ 93.8% 7] 43.8% 7] 43.8% 3 4 2| 12.5%
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& & H ARk S HT 3 3| 100.0% 1 33.3% 2|  66.7% 1 1 0 0.0%
4 37 AR ith FH T 0
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IFEE  [EEFH 3 3] 100.0% 3| 100.0% 0 0.0% 0 0 0 0.0%
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IRBE |®RBET 62 62| 100.0% 19]  30.6% 21]  33.9% 5 16 22| 355%
IFER AR 4 4] 100.0% 0 0.0% 4] 100.0% 0 4 0 0.0%
IRBE  ILETH 0
IFEEE  [BREh 8 8| 100.0% 3] 37.5% 4] 50.0% 0 4 1] 12.5%
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IFER |[F&aMH 2 2| 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%
IRBE  |EEh 8 8] 100.0% 0 0.0% 7] 87.5% 1 6 1 12.5%
I E R[S AR E AT 6 6] 100.0% 1 16.7% 4] 66.7% 0 4 1 16.7%
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IFERE  |Z=/\ERHE BT 2 2| 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%
IFER |%=/\ERER 2 AT 1 1] 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
IFERE  |Z=/\E%/\E] 3 3| 100.0% 2|  66.7% 0 0.0% 0 0 1 33.3%
I B8 B3 BR4E2E I BT 4 4] 100.0% 1 25.0% 1 25.0% 0 1 2| 50.0%
Iy B I8 B 2 AR K P T 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
IR (5 3EER G AT 0
IR [ AEERILSET 4 4] 100.0% 3] 75.0% 0 0.0% 0 0 1] 25.0%
I B8 AN ER SR ET 0
IR [ hnp AR AOET 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
I B8 [AnsEER) 3D ET 0
IR B8 [ nBEERERET 0
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BEE  |FmmEX 17 17| 100.0% 8|  47.1% 1 5.9% 0 1 8]  47.1%
RS (BRI ThERATX 49 49 100.0% 27]  55.1% 4 8.2% 1 3 18]  36.7%
B [FRMTHIEKE 18 18] 100.0% 12|  66.7% 2] 11.1% 0 2 4] 22.2%
BEE |[ENHHX 116 116]  100.0% 41|  35.3% 35  30.2% 2 33 40 34.5%
BEE |ENMHERERR 34 34| 100.0% 8]  23.5% 15]  44.1% 0 15 1] 32.4%
BEE |[ENWHAER 10 10[  100.0% 1] 10.0% 6]  60.0% 0 6 3| 30.0%
BEE |ENHEX 33 33 100.0% 1] 33.3% 17| 51.5% 0 17 5| 15.2%
BEE [ERRmIX 9 9] 100.0% 4] 44.4% 5|  55.6% 0 5 0 0.0%
BEE  UEMHEIX 14 14| 100.0% 3 21.4% 8] 57.1% 0 8 3] 21.4%
BEE [EMHXRERX 1 1] 100.0% 0 0.0% 0 0.0% 0 0 1] 100.0%
BEE |BEh 10 10[  100.0% 1 10.0% 5] 50.0% 2 3 4 40.0%
BEE |BEh 8 8] 100.0% 1 12.5% 6]  75.0% 2 4 1 12.5%
BEE [=Bm 4 4] 100.0% 0 0.0% 0 0.0% 0 0 4] 100.0%
BEE |E+=h 9 9] 100.0% 0 0.0% 4] 44.4% 0 4 5]  55.6%
BEE |fPET 0
BEE |SHAM 11 11[ 100.0% 7] 63.6% 1 9.1% 0 1 3] 27.3%
BEE |E+mh 9 9] 100.0% 2| 22.2% 7] 77.8% 6 1 0 0.0%
BEE |2@AH 29 29| 100.0% 7] 24.1% 18] 62.1% 3 15 4] 13.8%
BRIE  |BEET 6 6] 100.0% 3] 50.0% 1 16.7% 0 1 2|  33.3%
BEE  |#h 8 8] 100.0% 4] 50.0% 2] 25.0% 1 1 2] 25.0%
BEE  |ERh 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
BEE |HESh 5 5] 100.0% 1] 20.0% 3] 60.0% 0 3 1] 20.0%
BEE  |SHT 15 15[ 100.0% 6]  40.0% 4] 26.7% 0 4 5|  33.3%
BEE |THT 0
BEE  |EHH 0
BEE  |#fam 16 16[  100.0% 10|  62.5% 4] 25.0% 0 4 2] 12.5%
BEE |[PFEmhm 1 1| 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
BEE  |HansT 0
BEE  |FHNh 5 5| 100.0% 4  80.0% 1 20.0% 0 1 0 0.0%
BEE |FEoET 1 1] 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%
BEE |WZEh 3 3] 100.0% 2] 66.7% 0 0.0% 0 0 1] 33.3%
BEE |[EXEEFEE 0
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BEE |EXEmrEE 0
RIS | B ARMASET 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
BREIE | B AR E AT 0
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BRE  |BAERERIE/KET 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
S |BAEREIRSRHET 0
ERfRE  |BEEER/NLIET 0
S |#EEER S HET 2 2] 100.0% 1] 50.0% 1] 50.0% 0 1 0 0.0%
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i 449 449|  100.0% 167| 37.2% 152|  33.9% 18 134 130|  29.0%
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ZTHE |FHEHTTFEX 124 124 100.0% 59  47.6% 32| 25.8% 7 25 33]  26.6%
ZHME [AHEHMRRX 92 92| 100.0% 62| 67.3% 20|  21.7% 3 17 10  10.9%
ZHE [FEHEHIAX 149 149 100.0% 64]  43.0% 56|  37.6% 6 50 29 19.5%
ZHME [AEEHMAR 157 157]  100.0% 50| 31.8% 53|  33.8% 2 51 54|  34.4%
BHE |[FHETHHER 131 131 100.0% 85]  64.9% 24| 18.3% 3 21 22| 16.8%
EZHME [AHEHMHRX 139 139]  100.0% 82| 56.0% 24|  17.3% 4 20 33|  23.7%
BHE |[FHEHBRIR 97 97| 100.0% 36] 37.1% 26]  26.8% 3 23 35  36.1%
BHE [AHEBEHHREX 119 119]  100.0% 50  42.0% 24|  20.2% 2 22 45|  37.8%
BHE |[FHEWHRARX 102 102] 100.0% 56]  54.9% 30]  29.4% 4 26 16]  15.7%
ZHE |2HEHTHIK 190 190[  100.0% 79|  41.6% 42|  22.1% 7 35 69  49.5%
ZHE [FHEHMBEX 147 147 100.0% 46]  31.3% 50 34.0% 4 46 51 34.7%
EZHME AEEHMEX 142 142]  100.0% 44|  31.0% 46|  32.4% 3 43 52|  36.6%
BHME |[FHEHFILR 121 121]  100.0% 4] 33.9% 39  32.2% 7 32 41 33.9%
ZHME |[AHEHHKX 79 79| 100.0% 32|  40.5% 25|  31.6% 2 23 22|  27.8%
BHE |[FHETRARRX 7 71] 100.0% 20]  28.2% 17]  23.9% 2 15 34 47.9%
ZHE |ZHEHTXREKX 99 99 100.0% 42|  42.4% 22|  22.2% 2 20 35|  35.4%
ZHME [24ETh 117 117] 100.0% 40]  34.2% 46]  39.3% 5 4 31 26.5%
EREIEL 62 62| 100.0% 22|  355% 26]  41.9% 4 22 14]  22.6%
ZHE [—=Em 93 93] 100.0% 17]  18.3% 38  40.9% 14 24 38]  40.9%
BHE |[HPm 36 36| 100.0% 6] 16.7% 1] 30.6% 2 9 19|  52.8%
ZHE |¥HM 9 9] 100.0% 5|  55.6% 0 0.0% 0 0 4] 44.4%
EHME |FEAHT 82 82| 100.0% 27|  32.9% 25|  30.5% 4 21 30|  36.6%
ZHE |2)h 26 26| 100.0% 12| 46.2% 12| 46.2% 0 12 2 7.7%
ZHE [EBH 15 15[ 100.0% 6]  40.0% 6]  40.0% 0 6 3] 20.0%
ZHME |E@m 4 4] 100.0% 2] 50.0% 1] 25.0% 0 1 1] 25.0%
BHME |WMAH 35 35| 100.0% 15|  42.9% 10]  28.6% 3 7 10]  28.6%
THE |ZHEM 32 32| 100.0% 7] 21.9% 16]  50.0% 0 16 9] 28.1%
BHME |REH 23 23] 100.0% 1 4.3% 9]  39.1% 2 7 13| 56.5%
THE |HEM 20 20 100.0% 1 5.0% 16] _ 80.0% 8 8 3] 15.0%
EHE  [EEH 23 23| 100.0% 7] 30.4% 5 21.7% 1 4 11 47.8%
ZHE |XKium 22 22| 100.0% 5]  22.7% 9] 40.9% 2 7 8| 36.4%
BHE |®EH 8 8| 100.0% 3| 37.5% 4] 50.0% 0 4 1 12.5%
BHE [[Imm 43 43| 100.0% 10]  23.3% 20]  46.5% 7 13 13|  30.2%
BHME  |/N&H 62 62| 100.0% 13|  21.0% 34|  54.8% 7 27 15| 24.2%
ZHME |fERT 35 35| 100.0% 4 11.4% 15|  42.9% 3 12 16]  45.7%
BHE |#EH 2 2| 100.0% 0 0.0% 2| 100.0% 0 2 0 0.0%
EHE |HEH 28 28] 100.0% 12|  42.9% 9] 32.1% 1 8 7] 25.0%
BHE |XFEM 26 26 100.0% 6] 23.1% 8] 30.8% 2 6 12| 46.2%
EHME |HZBH 9 9] 100.0% 2] 22.2% 2] 22.2% 1 1 5]  66.7%
BHME |f03H 22 22| 100.0% 4] 18.2% 7] 31.8% 3 4 11| 55.6%
ZHE |ERBH 20 20 100.0% 4] 20.0% 5] 25.0% 0 5 11 55.0%
BHE |[SEM 5 5| 100.0% 0 0.0% 3|  60.0% 0 3 2| 40.0%
EHE |BET™ 31 31| 100.0% 5  16.1% 11 35.5% 0 11 15|  48.4%
BHE |Z8AH 4 4] 100.0% 3] 75.0% 1] 25.0% 0 1 0 0.0%
BHME |A#EH 7 7] 100.0% 1] 14.3% 1] 14.3% 0 1 5| 71.4%
BHME |HEH 2 2| 100.0% 0 0.0% 2| 100.0% 0 2 0 0.0%
THE |2fm 3 3] 100.0% 0 0.0% 0 0.0% 0 0 3| 100.0%
BHME [BEM 28 28] 100.0% 11 39.3% 11 39.3% 3 8 6]  21.4%
ZHE |kEEHET 33 33]  100.0% 12|  36.4% 9] 27.3% 2 7 12| 36.4%
BHE [WEm 8 8| 100.0% 6] 75.0% 2|  25.0% 0 2 0 0.0%
THE |#LLT 6 6] 100.0% 1] 16.7% 4] 66.7% 1 3 1] 16.7%
ZHE |HFEM 11 11| 100.0% 5|  45.5% 2| 50.0% 1 1 4] 36.4%
ZHE |2 AR 6 6] 100.0% 1 16.7% 3| 50.0% 1 2 2] 33.3%
EBHME ([BHEEAFHE 12 12| 100.0% 3|  25.0% 3|  25.0% 0 3 6]  50.0%
ZHE |[FEEBEFEEINET 4 4] 100.0% 0 0.0% 3|  75.0% 0 3 1 25.0%
EBHME [ FHEAOE 12 12| 100.0% 2|  16.7% 5 41.7% 0 5 5 41.7%
ZHE | FPEBIkEET 7 7| 100.0% 2|  28.6% 4  57.1% 1 3 1 14.3%
EHE [IBERARKART 2 2| 100.0% 1 50.0% 0 0.0% 0 0 1 50.0%
EHME |MEEAETR 5 5] 100.0% 2] 40.0% 2] 40.0% 1 1 1] 20.0%
THME [BRBREN 0
ZHME |50 2 BRI A LLET 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
BHNE AP EERHET 9 9] 100.0% 1 11.1% 2| 22.2% 0 2 6] 66.7%
EHE |MZEEIMZHE 0
BHE [ANZEREEA 2 2| 100.0% 1 50.0% 1 50.0% 0 1 0 0.0%
ZHE [AZEHSE 4 4] 100.0% 1 25.0% 3|  75.0% 1 2 0 0.0%
THME (BT E—MAE 0
THE [(BSEEREE 0
THME (BT ERIRSHET 0
ETHIE |AAMERSEHAET 0
ELLENEE TS T 0
ZHE [ A EE 0
AR [JLEREEEEN 0
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=58 |#%hm 5 5] 100.0% 2| 40.0% 2| 40.0% 0 2 1] 20.0%
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=FEE [EFH 3 3] 100.0% 2] 66.7% 0 0.0% 0 0 1] 33.3%
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=EE |ELBESE 0
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=EE |ELHmFTE 0
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&t 299 299| 100.0% 152|  50.8% 53| 17.7% 1 52 94| 31.4%
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,E”" 2 [sRlTHh 75 75| 100.0% 29|  38.7% 9l  12.0% 2 7 37|  49.3%
#E E' EX 66 66| 100.0% 29|  43.9% 4 6.1% 2 2 33|  50.0%
,E”" [} BEh 31 31| 100.0% 15|  48.4% 3 9.7% 2 1 13 41.9%
HEE 5 M T 51 51| 100.0% 200  39.2% 7] 13.7% 3 4 24 47.1%
HEE 5 AR 1 11]  100.0% 5|  455% 4] 36.4% 3 1 2| 18.2%
HEE 5 =28t 31 31| 100.0% 8]  25.8% 3 9.7% 3 0 20(  64.5%
,E”" 5 RiiT 44 44| 100.0% 11 25.0% 5 11.4% 4 1 28]  63.6%
HE E' KET 10 10| 100.0% 2| 20.0% 3] 30.0% 0 3 5 50.0%
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o e 2 150 150] 100.0% 26]  17.3% 3 2.0% 1 2 121 80.7%
AR |RBHARX 222 222| 100.0% 39|  17.6% 8 3.6% 2 6 175]  78.8%
REREE  |REHRKEX 270 270]  100.0% 53]  19.6% 14 5.2% 5 9 203  75.2%
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AN | RRET 7 71]  100.0% 8|  11.3% 6 8.5% 4 2 57]  80.3%
TARRE  |/\iBTh 20 20 100.0% 3] 15.0% 0 0.0% 0 0 17| 85.0%
AR |FRETH 50 50| 100.0% 15|  30.0% 3 6.0% 0 3 32| 64.0%
REMEE  |SFHET 4 4] 100.0% 2] 50.0% 0 0.0% 0 0 2| 50.0%
REREE  |Eafth 3 3] 100.0% 0 0.0% 0 0.0% 0 0 3] 100.0%
REREE | ARENTH 20 20 100.0% 6]  30.0% 2] 10.0% 0 2 12]  60.0%
TARRF | Z EIER K (L BT 18 18] 100.0% 1 5.6% 2] 11.1% 1 1 15|  83.3%
SRERRE | AtHER A LI ET 24 24| 100.0% 3] 125% 0 0.0% 0 0 21 87.5%
TERRE | BREERFFHET 1 1] 100.0% 0 0.0% 0 0.0% 0 0 1] 100.0%
RERRE | #RE= B0 A MR ET 2 2] 100.0% 0 0.0% 1] 50.0% 1 0 1] 50.0%
TERRT |t ERAT & BT 7 7] 100.0% 6] 85.7% 0 0.0% 0 0 1 14.3%
SRERRE |t ZEBRF0RET 0
TERRT  |tEEEERAEEEET 9 9] 100.0% 3]  33.3% 0 0.0% 0 0 6]  66.7%
RARAT  |tEEEERE LLIEAL 0
REARAT ae#zrs:-iﬂ Pl 4 4] 100.0% 3] 75.0% 0 0.0% 0 0 1] 25.0%
A |5 S ERMFRET 0
FEERE |5 EBIE0 5 S ETET 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%

&t 2,655 2,655 100.0% 577| 21.7% 100 3.8% 40 60 1,978 74.5%
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ZEEEAMRARMEREO—RYYT (FR2243A31 BB

S ] - BHRE |24 T8IV | 2y = A o (23 | (REXIE |2/ a

EBERFE (HXETH i 2 H233 /= EEs = FHEHY |FE 2FEE k= | |ximig =
| RBRAT | KBRiERS X 70 70]  100.0% 35  50.0% 1 1.4% 0 1 34| 48.6%
[ KBRAF | KR hiEs X 69 69| 100.0% 41| 59.4% 2 2.9% 2 0 26]  37.7%
[ KBRAF | KRR It fE X 68 68| 100.0% 31| 45.6% 0 0.0% 0 0 37| 54.4%
N PN e 117 117]  100.0% 33|  28.2% 8 6.8% 5 3 76|  65.0%
PN PN 46 46]  100.0% 12| 26.1% 5| 10.9% 2 3 29 63.0%
ABREF [ RERTRERX 60 60 100.0% 20| 33.3% 1 1.7% 0 1 39|  65.0%
ABRAF | ABRHBREFX 145 145  100.0% 38|  26.2% 7 4.8% 1 6 100  69.0%
[ KBRAT | KBRATEERX 77 77| 100.0% 19  24.7% 2 2.6% 2 0 56  72.7%
[ KBRAF | ABR gl X 104 104] 100.0% 45|  43.3% 5 4.8% 3 2 54|  51.9%
RBRAF | RBRAERGE/IX 158 158  100.0% 60| 38.0% 5 3.2% 4 1 93|  58.9%
ABRAF | RBRAEAX 127 127|  100.0% 60 47.2% 8 6.3% 8 0 59]  46.5%
ABREF [ RERTTAFX 162 162]  100.0% 34 21.0% 11 6.8% 0 11 17| 72.2%
ABrAF | KRHEX 88 88| 100.0% 40|  45.5% 2 2.3% 1 1 46]  52.3%
| KBRAT | KBRAIHER X 131 131]  100.0% 67| 51.1% 7 5.3% 3 4 57|  43.5%
[ KBRAF | ABR b A B X 118 118]  100.0% 67]  56.8% 1 0.8% 0 1 50  42.4%
ABREF [ RERHEEX 209 209 100.0% 120]  57.4% 8 3.8% 6 2 81|  38.8%
ABrAF | KERHERESX 169 169 100.0% 56 33.1% 9 5.3% 0 9 104]  61.5%
ABREF [ RERiFERX 96 96| 100.0% 34| 35.4% 6 6.3% 3 3 56| 58.3%
ABRAF [ RBRARIIR 269 269]  100.0% 135]  50.2% 5 1.9% 3 2 129]  48.0%
ABREF [ KERHEERX 85 85| 100.0% 35|  41.2% 5 5.9% 0 5 45|  52.9%
ABREF [ RERH{EFZIIR 77 77| 100.0% 34|  44.2% 2 2.6% 0 2 41]  53.2%
ABREF | KRBT FEEFX 172 172]  100.0% 51 29.7% 9 5.2% 0 9 112]  65.1%
PN PN e A 154 154] 100.0% 65| 42.2% 9 5.8% 1 8 80 51.9%
ABREF [ KRR RX 224 224 100.0% 114]  50.9% 3 1.3% 1 2 107|  47.8%
ABREF [IRHIRK 164 164]  100.0% 76|  46.3% 7 4.3% 3 4 81  49.4%
ABREF SRR 58 58]  100.0% 29|  50.0% 3 5.2% 1 2 26  44.8%
ABrAF [IRHERERR 25 25 100.0% 1] 44.0% 1 4.0% 0 1 13]  52.0%
ABREF SRR 84 84| 100.0% 40|  47.6% 2 2.4% 0 2 42| 50.0%
ABRAF SRR 33 33 100.0% 13]  39.4% 1 3.0% 0 1 19| 57.6%
ABRAF  [BRdLX 61 61 100.0% 36| 59.0% 1 1.6% 0 1 24 39.3%
ABrpF  [IRmERER 15 15 100.0% 8]  53.3% 0 0.0% 0 0 7] 46.7%
ABREF |EFET 52 52| 100.0% 22|  42.3% 8]  15.4% 1 7 22| 42.3%
PN LT 466 466]  100.0% 167|  35.8% 15 3.2% 1 14 284]  60.9%
ABRAF |thEATH 98 98 100.0% 49|  50.0% 5 5.1% 1 4 44|  44.9%
ABRAF  |WREHTH 177 177] 100.0% 91|  51.4% 7 4.0% 5 2 79| 44.6%
ABREF |RKEFEH 54 54| 100.0% 18]  33.3% 2 3.7% 1 1 34| 63.0%
KB AF .—ﬂ;ﬁn 231 231 100.0% 118]  51.1% 14 6.1% 5 9 99 42.9%
ABrAF |BiEH 76 76/ 100.0% 23]  30.3% 9  11.8% 2 7 44 57.9%
ABrEF |SFOTH 187 187] 100.0% 83| 44.4% 25  13.4% 14 11 79| 42.2%
KBRAF |#¥A™ 172 172] 100.0% 100]  58.1% 6 3.5% 6 0 66|  38.4%
ABRAF  |ZRATH 240 240] 100.0% 102]  42.5% 7 2.9% 1 6 131]  54.6%
ABREF |\ETH 203 203 100.0% 83|  40.9% 17 8.4% 11 6 103]  50.7%
ABrAF | RIEET 50 50 100.0% 20]  40.0% 3 6.0% 2 1 27| 54.0%
ABpFF  |EE#HH 101 101]  100.0% 52| 51.5% 0 0.0% 0 0 49 48.5%
NIl =TT 250 250 100.0% 134]  53.6% 10 4.0% 7 3 106 42.4%
ABREF AR T 102 102]  100.0% 48]  47.1% 2 2.0% 2 0 52|  51.0%
ABREF  |#AET 105 105]  100.0% 50  47.6% 8 7.6% 3 5 47| 44.8%
PN PN il 138 138]  100.0% 57|  41.3% 14| 10.1% 8 6 67|  48.6%
ABREF |F0R T 136 136]  100.0% 58]  42.6% 3 2.2% 0 3 75| 55.1%
ABpFF  |E@Eh 102 102] 100.0% 39|  38.2% 13]  12.7% 1 12 50  49.0%
ABREF |t 49 49]  100.0% 22| 44.9% 1 2.0% 0 1 26]  53.1%
ABREF | PR EFH 76 76/ 100.0% 28]  36.8% 13]  17.1% 11 2 35]  46.1%
ABrEF  |PAET™T 120 120]  100.0% 54|  45.0% 12]  10.0% 4 8 54|  45.0%
Aiepg  |EEd 116 116]  100.0% 53|  45.7% 12]  10.3% 11 1 51  44.0%
ABpEF |SHH 107 107] _100.0% 50|  46.7% 5 4.7% 2 3 52|  48.6%
ABRAF |BEHFH 64 64| 100.0% 22|  34.4% 4 6.3% 1 3 38]  59.4%
PN E PN 486 486]  100.0% 127]  26.1% 61]  12.6% 36 25 298]  61.3%
ABREF |REath 38 38| 100.0% 21|  55.3% 2 5.3% 2 0 15|  39.5%
ABRAT | 53 53] 100.0% 25]  47.2% 2 3.8% 0 2 26]  49.1%
ABREF | EFhH 54 54] 100.0% 30| 55.6% 4 7.4% 3 1 20|  37.0%
ABrAF | KBR¥EILTH 53 53] 100.0% 17]  32.1% 1 1.9% 0 1 35 66.0%
ABREF  |BREaTH 27 27| 100.0% 11 40.7% 1 3.7% 0 1 15  55.6%
KIRFF  [= BEREARHET 23 23] 100.0% 12|  52.2% 2 8.7% 1 1 9] 39.1%
[ KBRAT | ﬁﬁ& B2 HE 4 4] 100.0% 0 0.0% 4] 100.0% 4 0 0 0.0%
[ KBRAT | AERRAEZAAT 9 9] 100.0% 0 0.0% 4] 44.4% 0 4 5| 55.6%
[ KBRAF | %itzﬂmlﬁlm 25 25| 100.0% 4] 16.0% 3] 12.0% 1 2 18] 72.0%
ABRAF | R AR AE ER BT 16 16]  100.0% 8]  50.0% 0 0.0% 0 0 8] 50.0%
ABREF | REIEREH R ET 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
KABRAF | SR EARUEET 15 15[ 100.0% 10|  66.7% 2] 13.3% 1 1 3] 20.0%
| KBRAT  |E Al A ER A BT 4 4] 100.0% 2|  50.0% 0 0.0% 0 0 2| 50.0%
| KBRAT | Fanl P9 2R ;e 3 3| 100.0% 3| 100.0% 0 0.0% 0 0 2] 66.7%
| KBRAF |EERINER T B iR b 0

&t 7,718 7,718] 100.0% 3273| 42.4% 437 5.7% 197| 240 4,008| 51.9%
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HEEREO—RF <y (ER2243A31 ARE)

RIEEERE

HBERIR RATH mam | (BRI ge | IV we | HEsy (w2 s |BIE| (XEXE|0s
EEE |[MPHE#X 173 173 100.0% 78]  45.1% 18] 10.4% 6 12 77| 445%
EEE |#MPFm#X 129 129]  100.0% 37|  28.7% 10 7.8% 1 9 82| 63.6%
EEE MWFHEERX 86 86| 100.0% 27|  31.4% 5 5.8% 3 2 54|  62.8%
EERE [#WPHMEAR 91 91 100.0% 42|  46.2% 9 9.9% 6 3 40|  44.0%
EEE [MPFHAEX 88 88 100.0% 36]  40.9% 9] 10.2% 6 3 43| 48.9%
EER [#WPHmEKR 92 92| 100.0% 49|  53.3% 7 7.6% 5 2 36  39.1%
EEE |MFmiER 81 81| 100.0% 30]  37.0% 16]  19.8% 16 0 35)  43.2%
EER [#WPHmPRR 173 173]  100.0% 56 32.4% 14 8.1% 10 4 103]  59.5%
EEE |MFmAEK 49 49 100.0% 14]  28.6% 7] 14.3% 1 6 28]  57.1%
EER |WREMH 233 233  100.0% 83| 35.6% 17 7.3% 15 2 133]  57.1%
EER |Elih 442 442] 100.0% 212]  48.0% 19 4.3% 11 8 211 47.7%
EER [BAEm 183 183  100.0% 81|  44.3% 25|  13.7% 15 10 77| 42.1%
EERE |HEm 250 250]  100.0% 93]  37.2% 23 9.2% 6 17 134]  53.6%
EEE |MNAH 22 22| 100.0% 5  22.7% 6] 27.3% 2 4 11 50.0%
EERE |FEM 60 60 100.0% 22|  36.7% 5 8.3% 4 1 33]  55.0%
EEE |[FHAW 118 118  100.0% 55|  46.6% 11 9.3% 7 4 52|  44.1%
EERE |4 13 13[  100.0% 7] 53.8% 0 0.0% 0 0 6]  46.2%
EEE |[ZEWH 17 17| 100.0% 7] 41.2% 5  29.4% 4 1 5  29.4%
EEE |mHm 66 66 100.0% 27| 40.9% 2 3.0% 1 1 37| 56.1%
EER |KEm 15 15| 100.0% 7| 46.7% 3] 20.0% 3 0 5  33.3%
EER |@ERTH 7 7] 100.0% 3] 42.9% 1] 14.3% 1 0 3] 42.9%
EER |FEH 136 136] 100.0% 49|  36.0% 15 11.0% 10 5 72|  52.9%
EEE |=XmW 24 24| 100.0% 6]  25.0% 7] 29.2% 5 2 11 45.8%
EER |[E®¥Hm 32 32| 100.0% 16|  50.0% 2 6.3% 2 0 14  43.8%
EERE |NI#EH 61 61] 100.0% 22|  36.1% 20]  32.8% 13 7 19]  31.1%
EEE |/HH 8 8| 100.0% 3| 37.5% 2|  25.0% 2 0 3|  37.5%
EEE [=@Am 58 58] 100.0% 16]  27.6% 12]  20.7% 6 6 30  51.7%
EEE  |m#Eh 12 12[  100.0% 6] 50.0% 2] 16.7% 2 0 4] 33.3%
EERE |#lhm 14 14] 100.0% 3] 21.4% 8]  57.1% 4 4 3] 21.4%
EER |[BXW 1 1] 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%
EEER |FEEW 8 8] 100.0% 0 0.0% 3| 37.5% 1 2 5| 62.5%
EER [Hblm 5 5| 100.0% 0 0.0% 4] 80.0% 3 1 1 20.0%
EER |#Hkmh 0
EER %KM 41 41 100.0% 8| 19.5% 18]  43.9% 17 1 15  36.6%
EERE |REM 7 7] 100.0% 1] 14.3% 4] 57.1% 4 0 2| 28.6%
EEE [hE™ 2 2| 100.0% 1 50.0% 1 50.0% 1 0 0 0.0%
EEE |20 12 12[ 100.0% 6]  50.0% 6]  50.0% 3 3 0 0.0%
EER  |NDER¥ES AT 3 3| 100.0% 1 33.3% 1 33.3% 0 1 1 33.3%
EER |ZAIEZ ATl 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
EER [t ERREERT 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
EEE |G EEER 5 5| 100.0% 3|  60.0% 1 20.0% 1 0 1 20.0%
EEE  |#WSERh)IET 1 1| 100.0% 0 0.0% 0 0.0% 0 0 1] 100.0%
EER |HIGER{EISET 6 6] 100.0% 3] 50.0% 2] 33.3% 2 0 1 16.7%
EERE  |#SERfha T 1 1] 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%
EERE [{EREAFHE 5 5] 100.0% 1] 20.0% 1] 20.0% 1 0 3] 60.0%
EES |FIEED L ERET 2 2| 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%
EEE |AREMERE 1 1| 100.0% 0 0.0% 0 0.0% 0 0 1] 100.0%
EER [EFBEER 0
EEE [EAEHURRAT 3 3] 100.0% 0 0.0% 1] 33.3% 0 1 2] 66.7%
i 2,838 2,838 100.0% 1,120 39.5% 324 11.4% 202 122 1,394  49.1%
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SEENELEREA—NT YT (Ef2243A31BEA)

s T ] 5 BHizfE TIRN | 2 n = A = [23EE | [REXE] 2/
EBERFE (HXETH i 2 H233 = EEs = EHY |25 25 & k= | |ximig =
=BE |=Bm 263 263]  100.0% 67]  25.5% 1 0.4% 1 0 195]  74.1%
mELr jcﬂu.—,Eafﬁ 71 71| 100.0% 19  26.8% 15| 21.1% 13 2 37 52.1%
=RBE | XMELH 53 53] 100.0% 18]  34.0% 1 1.9% 0 1 34 64.2%
ZRE |XEM 82 82| 100.0% 32|  39.0% 0 0.0% 0 0 50|  61.0%
Z=BE |[EBETh 120 120]  100.0% 33  27.5% 5 4.2% 4 1 82|  68.3%
ZRE |fHm 45 45 100.0% 8|  17.8% 3 6.7% 1 2 34 75.6%
ZRE |FHiEh 4 4] 100.0% 1] 25.0% 0 0.0% 0 0 3] 75.0%
=REE |#frm 10 10[  100.0% 2| 20.0% 4] 40.0% 4 0 4] 40.0%
I=ZRE [4EmhH 21 21| 100.0% 6]  28.6% 1 4.8% 0 1 14| 66.7%
ZRE |[F=Zm 37 37| 100.0% 9]  24.3% 4] 10.8% 0 4 24 64.9%
ERNEA 14 14| 100.0% 7] 50.0% 2| 14.3% 1 1 5| 35.7%
ZRE  |FEm 4 4] 100.0% 2| 50.0% 1] 25.0% 1 0 1] 25.0%
=RBE [DERLES 0
ZRE [4E9ERFE AT 4 4| 100.0% 1 25.0% 0 0.0% 0 0 3]  75.0%
ZRIE |4 EnER=iHT 9 9] 100.0% 5|  55.6% 1 11.1% 0 1 3] 33.3%
ZRE [4E9EBIIERT 10 10 100.0% 4] 40.0% 0 0.0% 0 0 6]  60.0%
IZRE [AEnER M 9 9] 100.0% 1 11.1% 3] 33.3% 0 3 5| 55.6%
Z=BE  |FEIRERFERT 4 4] 100.0% 1 25.0% 0 0.0% 0 0 3|  75.0%
=BE [f&iRE=£fr 0
ZBE  |H&IRETM R AR 9 9] 100.0% 5|  55.6% 0 0.0% 0 0 4] 44.4%
ZBE [ Ema 0
ZRE |FIeEass 0
IZRE [EThaEEERAT 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
?RELr = AR A &4 0
Z=RE |t SyERE%ET 5 5] 100.0% 3] 60.0% 0 0.0% 0 0 2| 40.0%
?RELr LS AR E SFHT 18 18] 100.0% 3  16.7% 3 16.7% 0 3 12|  66.7%
Z=RE | SHEERLER 6 6] 100.0% 4] 66.7% 0 0.0% 0 0 2| 33.3%
ZRE |dtEHENEH 7 7] 100.0% 2| 28.6% 0 0.0% 0 0 5]  71.4%
Z=RBE |EHASEHRE 0
ZRE |[EHHXE 3 3| 100.0% 3| 100.0% 0 0.0% 0 0 0 0.0%
Z=BE |EHATHE 0
ZRE |[EHIEEE 0
=RBE |EHHXIIA 0
ZRE |[EHEEE)IHA 0
Z=BE |EHH+HZIA 0
?RELr SHA T 0
ZRE |[HHE LA 0
?RELr HEEI £ 0
ZERE |[EHAFESTHH 0
&t 809 809( 100.0% 237 29.3% 44 5.4% 25 19 528  65.3%
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HEEREO—RF <y (ER2243A31 ARE)

RIEEERE

R . 5 BEfE N TO8IN | 2yn = N w [23FEE | [REXIZ| 20
EBERFE (HXETH i 2 H23.3 /= L% = FHEHY |FE 224 E k= | |ximig =
ERE [EWm 17 17| 100.0% 7] 41.2% 9]  52.9% 1 8 1 5.9%
ERE [XFhm 22 22|  100.0% 6] 27.3% 15|  68.2% 0 15 1 4.5%
ERE [EE&mWm 4 4] 100.0% 2] 50.0% 2] 50.0% 0 2 0 0.0%
ERE [B&Eh 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
ERME [EXEEAEZAT 0
ERE [/\GEERFEHLAT 0
EIRE [/\GEER%SEEAT 0
EIE [/\GAER/\SEAT 0
ERE [R{EE=gAT 0
ERE [FR{EESIER 0
ERE [R{EEZHAT 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
ERE [FR{EERILRAT 0
ERE [AEMEEEN 0
ERE [FA{EEXILAT 0
SWE |FE{AEIEIERET 2 2| 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%
ERE [FA{EEEER 0
ERE [AFEHFEA 0
ERE [AFEH AT 4 4] 100.0% 3] 75.0% 1] 25.0% 1 0 0 0.0%
IENE [BEE0TRTAT 0

&t 51 51| 100.0% 22| 43.1% 27|  52.9% 2 25 2 3.9%
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2 =z = = v R
ZIEREE N R HEERRO—F YT (Er22463A318H%E)

— y 5 BEE A L2 TV N - N WBEE | [REXIZX| 4
%BJEH‘"TLR T'ﬁlzm]—*-j— ﬂﬁiﬁﬁ H233 :Er%:l 4b%a T‘:E//IZ H+E5U :E'%: 22¢’§ /*E *EE T':El/g
BRE |#WTH 46 46| 100.0% 31|  67.4% 13  28.3% 3 10 2 4.3%
BEE |EHET 16 16| 100.0% 12]  75.0% 4]  250% 2 2 0 0.0%
BRE |HEH 9 9] 100.0% 9] 100.0% 0 0.0% 0 0 0 0.0%
BEE |&EHET 4 4] 100.0% 2  50.0% 1 25.0% 1 0 1 25.0%
EEE | KHM 2 2| 100.0% 1] 50.0% 1] 50.0% 0 1 0 0.0%
ERE |RXH 2 2| 100.0% 0 0.0% 2| 100.0% 1 1 0 0.0%
EEE |IIZEWh 0
SEE |E@hm 0
EBiREE  |/\EREEHEM 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
ERE |[{CZEEHEE 0
ERE |tRAEBEREEET 0
ERE  |5)IERZE)IET 2 2| 100.0% 2] 100.0% 0 0.0% 0 0 0 0.0%
EEE |BEEIAE 0
ERE |BFEEHE 0
BRE |BEESmEE 0
ERE |ERAEMEFET 0
EBRE |EREBEEE 0
ERE |[BEEE 0
ERE |[BikEdE/ SHT 0
ERE |IBEE X4 0
ERE |2k EREI% 0 ST 0

it 82 82| 100.0% 58| 70.7% 21 25.6% 7 14 3 3.7%
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HEEREO—RF <y (ER2243A31 ARE)

RIEEERE

HBERIR RATH mam | (BRI ge | IV we | HEsy (w2 s |BIE| (XEXE|0s
EILE  [EldtX 233 233]  100.0% 115]  49.4% 58]  24.9% 2 56 60]  25.8%
FEWLE  [ELfe X 66 66] 100.0% 35/ 53.0% 19]  28.8% 0 19 12]  18.2%
FELE  [EILfEREK 46 46]  100.0% 22]  47.8% 17|  37.0% 0 17 7] 15.2%
FEWLE  [EILfEX 51 51]  100.0% 26]  51.0% 16]  31.4% 0 16 9]  17.6%
MLUE [E#&%® 136 136]  100.0% 72| 52.9% 28]  20.6% 2 26 36]  26.5%
FEWE [FElh 6 6] 100.0% 5|  83.3% 1] 16.7% 0 1 0 0.0%
FWE [EHH 26 26] 100.0% 16]  61.5% 9]  34.6% 1 8 1 3.8%
FWE [Z/EH 14 14[  100.0% 9]  64.3% 3] 21.4% 1 2 2] 14.3%
FILE  [HIEH 0
LS [#%th 14 14]  100.0% 5|  35.7% 3] 21.4% 0 3 6]  42.9%
FLUE [S2H 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
FWLE [FrRH 1 1] 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
FIWE  [fERIh 16 16]  100.0% 11]  68.8% 5]  31.3% 0 5 0 0.0%
FILE [#BFAT 9 9] 100.0% 4 44.4% 2| 22.2% 0 2 3|  33.3%
AILE  [FEEH 11 11] 100.0% 8]  72.7% 2] 18.2% 1 1 1 9.1%
FIWLE [EEm 5 5| 100.0% 2| 40.0% 3|  60.0% 2 1 0 0.0%
FIWLE  [EEH 1 1] 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
FEWE [EOw 4 4] 100.0% 3] 75.0% 1] 25.0% 0 1 0 0.0%
LS [FOSEBRFD S AT 3 3] 100.0% 1 33.3% 2|  66.7% 0 2 0 0.0%
FILE [HERESHE 4 4] 100.0% 4(  100.0% 0 0.0% 0 0 0 0.0%
LS [EOAR S AT 5 5|  100.0% 4  80.0% 1 20.0% 0 1 0 0.0%
IR [/NAERKEMT 1 1| 100.0% 1]  100.0% 0 0.0% 0 0 0 0.0%
FILE [EEERHER 0
EILE  [EAEREETFTAT 0
R LIS (35 BT B = T 1 1| 100.0% 1]  100.0% 0 0.0% 0 0 0 0.0%
IR  [BsHERE AT 1 1| 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
FILE [EABAEEH 0
FIWE  [AKEBAKEHAT 1 1] 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
FLE  [AKEREIKAT 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
REIWLE  [IIEAE e RET 0

i 657 657| 100.0% 346 52.7% 174|  26.5% 9 165 137  20.9%
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HEEREO—RF <y (ER2243A31 ARE)

RIEEERE

HBERIR RATH mam | (BRI ge | IV we | HEsy (w2 s |BIE| (XEXE|0s
LEE |EEmHR 132 132]  100.0% 61| 46.2% 67| 50.8% 30 37 4 3.0%
LEE |EEHER 67 67| 100.0% 36| 53.7% 29| 43.3% 16 13 2 3.0%
LEE |EEHmmX 105 105]  100.0% 63|  60.0% 40|  38.1% 22 18 2 1.9%
LEE |[EEHARX 116 116]  100.0% 63| 54.3% 50  43.1% 27 23 3 2.6%
LER |LEEBmEERKX 47 47| 100.0% 29]  61.7% 16]  34.0% 8 8 2 4.3%
LER |LEEBmEELRR 28 28] 100.0% 19]  67.9% 8]  28.6% 4 4 1 3.6%
LEE |[LETERERX 28 28] 100.0% 20]  71.4% 7] 25.0% 4 3 1 3.6%
LEE |[LEWERER 49 49 100.0% 27]  55.1% 19]  38.8% 13 6 3 6.1%
LEE |&Bh 90 90{ 100.0% 58]  64.4% 31 34.4% 13 18 1 1.1%
LER |MEm 19 19] 100.0% 11 57.9% 7] 36.8% 2 5 1 5.3%
LER |=Rm 4 41{  100.0% 27|  65.9% 13  31.7% 6 7 1 2.4%
LER |EBEm 39 39 100.0% 16  41.0% 22|  56.4% 9 13 1 2.6%
LER |f|lm 153 153|  100.0% 80| 52.3% 7 46.4% 17 54 2 1.3%
LER |F9m 8 8| 100.0% 3] 37.5% 5  62.5% 0 5 0 0.0%
LER |=Xkm 8 8| 100.0% 7] 87.5% 1 12.5% 1 0 0 0.0%
LER |ERM 2 2| 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%
LER | X¥m 2 2| 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%
LBE [HEET 32 32|  100.0% 18]  56.3% 13|  40.6% 4 9 1 3.1%
LER |[HHBmm 45 45 100.0% 24|  53.3% 19]  42.2% 10 9 2 4.4%
LEE |RESHMT 0
LER [[IHEBEM 5 5| 100.0% 1 20.0% 4 80.0% 0 4 0 0.0%
LEE  |REEAFHHE 26 26] 100.0% 1] 42.3% 12|  46.2% 6 6 3] 11.5%
LEE |REIEAE 18 18] 100.0% 6] 33.3% 1] 61.1% 3 8 1 5.6%
LEE | REEPAEFTET 3 3] 100.0% 2] 66.7% 1] 33.3% 0 1 0 0.0%
LEE |REEIRAT 6 6] 100.0% 3] 50.0% 3] 50.0% 1 2 0 0.0%
LEE IWERLZAHE 0
LBE  IWEEIESET 0
LEE |ZHEAEESHE 12 12| 100.0% 12| 100.0% 0 0.0% 0 0 0 0.0%
LBE  |tHEEERH R 0
LEE [BREAHASEA 0

i 1,081 1,081 100.0% 601| 55.6% 449  41.5% 196 253 31 2.9%

37




HEEREO—RF <y (ER2243A31 ARE)

RIEEERE

HBERIR RATH mam | (BRI ge | IV we | HEsy (w2 s |BIE| (XEXE|0s
WwOE | FEEm 80 80| 100.0% 58]  72.5% 16]  20.0% 10 6 6 7.5%
WOE [ 33 33| 100.0% 18] 54.5% 12|  36.4% 6 6 3 9.1%
== 19 19[  100.0% 16] 84.2% 1 5.3% 0 1 2| 10.5%
WOge  [Fh 3 3] 100.0% 3| 100.0% 0 0.0% 0 0 0 0.0%
WOg  [BARFH 14 14| 100.0% 11 78.6% 3 21.4% 1 2 0 0.0%
WOE [T 13 13[  100.0% 10]  76.9% 3] 23.1% 3 0 0 0.0%
wWOoe [ZEH 33 33| 100.0% 22]  66.7% 8] 24.2% 3 5 3 9.1%
WOg e 5 5|  100.0% 4  80.0% 1 20.0% 1 0 0 0.0%
Wog |[EMH 1 1] 100.0% 1| 100.0% 0 0.0% 0 0 0 0.0%
WO  [WHH 7 7] 100.0% 4] 57.1% 3] 42.9% 0 3 0 0.0%
WOgE  [E#fh 2 2| 100.0% 0 0.0% 1 50.0% 1 0 1 50.0%
WOe |Eim 70 70| 100.0% 56]  80.0% 10]  14.3% 5 5 4 5.7%
Wog  [Ls/NEFETH 23 23] 100.0% 9]  39.1% 13|  56.5% 7 6 1 4.3%
AR [ KEZERXSHT 2 2] 100.0% 1] 50.0% 0 0.0% 0 0 1] 50.0%
WOE  |[EAIERF0AHT 1 1| 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
WWOR  [AEEER L REAT 0
WWOE  |[AEE AR AT 1 1] 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
WOE  |[REERRFAHRT 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
WWOE  [BTECAR R E AT 0

i 308 308 100.0% 214 69.5% 73| 23.7% 37 36 21 6.8%
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= =R = > y :
ZEEEMNREFEMRERO—N <Y T (Efk2243A31BEA)

EBERTR [ XETH )iiEE H233 /= flraes = HEAaY |23 225 E x| |ximim =
wmeEs |[@aemh 197 177]  89.8% 88| 44.7% 75| 38.1% 15 60 34 17.3%
wmER [Efmh 26 23] 88.5% 15  57.7% 6] 23.1% 5 1 5|  19.2%
mERE /BT 9 8| 88.9% 1 11.1% 6] 66.7% 1 5 2| 22.2%
mERE [F@Eh 26 23]  88.5% 5|  19.2% 19]  73.1% 7 12 2 7.7%
wmERE |&EH%/h 12 11 91.7% 5|  41.7% 7] 58.3% 2 5 0 0.0%
EER  [FEH 0
meER [EEH 3 3| 100.0% 2|  66.7% 1 33.3% 0 1 0 0.0%
BmER [=tFh 2 2| 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%
EEE | BHEEREAT 0
EEE |BEA LA 0
mER [ZAEEMEIAAF 0
EEE (RAFAEEAFHET 0
mEE (& FEEAILET 5 5] 100.0% 4] 80.0% 1 20.0% 0 1 0 0.0%
EEE [IBEEIEE 0
HEE [EEEE AT 3 3] 100.0% 1 33.3% 2] 66.7% 0 2 0 0.0%
EEE [EIERERET 0
EEE [EIEEGE 0
EEE  [IREFEDHSEHT 8 7| 87.5% 3|  37.5% 3] 37.5% 0 3 2| 25.0%
mERE [REEILEHR 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
HEE [REFEEE(EAT 2 2| 100.0% 1 50.0% 1 50.0% 0 1 0 0.0%
EEE  [REFE AR ETHT 2 2| 100.0% 1| 50.0% 1] 50.0% 1 0 0 0.0%
EEE  [IREFERL ARET 0
EER [EEHOLHETHE 0
wmes [=FEEsLLE 1 1] 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%

i 297 268|  90.2% 129| 43.4% 123|  41.4% 32 91 45|  15.2%
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[l

=l o B BEEE |oa FIAI A = A VFE | (REXIE | 274
=TT 501 451 90.0% 357]  71.3% 92|  18.4% 5 87 52|  10.4%
L& 75 75| 100.0% 60]  80.0% 10 13.3% 0 10 5 6.7%
IR 31 28] 90.3% 20]  64.5% 6]  19.4% 3 3 5  16.1%
E&FH 10 9 90.0% 3] 30.0% 5] 50.0% 3 2 2] 20.0%
HBEEh 16 14|  87.5% 11 68.8% 4]  250% 2 2 1 6.3%
SHEH 14 13[  92.9% 9]  64.3% 4]  28.6% 2 2 1 7.1%
'h A 9 8] 88.9% 3|  33.3% 4] 44.4% 3 1 2 22.2%
=2 9 8]  88.9% 5|  55.6% 4] 44.4% 3 1 0 0.0%
/NG ER+ FERT 3 3] 100.0% 1 33.3% 2] 66.7% 0 2 0 0.0%
INFEVNG EET 3 3] 100.0% 0 0.0% 3] 100.0% 2 1 0 0.0%
AHEE=KHE] 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
EENCE= ) 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
A % EAT 11 11]  100.0% 8l  72.7% 2|  18.2% 0 2 1 9.1%
FEIRERE )[BT 7 6]  85.7% 3| 42.9% 4]  57.1% 1 3 0 0.0%
B2 EEZE T 3 3| 100.0% 2|  66.7% 1 33.3% 0 1 0 0.0%
B ZEE L EEE 5 5] 100.0% 2| 40.0% 3|  60.0% 1 2 0 0.0%

hZ EEFADSH 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
Hi 700 640  91.4% 487|  69.6% 144|  20.6% 25 119 69 9.9%
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= =X = = > o "
ZIEREE N R HEERRO—F YT (Er22463A318H%E)
> 5 g 5 BEE |+ EOZ TV N = A BEE | |REXIE| 274

EBERTR [ XETH )iiEE H233 /= flraes = HEAaY |23 224 x| |ximim =
BEE  (WUh 1,146 1,031]  90.0% 559|  48.8% 537|  46.9% 31 506 50 4.4%
TRE |SAH 190 171 90.0% 87 45.8% 62 32.6% 8 54 41 21.6%
ERE |FHES 61 55]  90.2% 33|  54.1% 24|  39.3% 6 18 4 6.6%
TRE |J\EEMH 31 31]  100.0% 29|  93.5% 0 0.0% 0 0 2 6.5%
BEE |FEET 69 62]  89.9% 40|  58.0% 18] 26.1% 2 16 11 15.9%
ZEE  |fEEh 61 55|  90.2% 36| 59.0% 13| 21.3% 2 11 12| 19.7%
ETRE |XKMH 11 10[  90.9% 6] 54.5% 5|  45.5% 1 4 0 0.0%
BEE |F¥H 30 27]  90.0% 11]  36.7% 18] 60.0% 4 14 1 3.3%
ZEE EfRh 97 87|  89.7% 32| 33.0% 63| 64.9% 14 49 2 2.1%
ZREE |EFH 0
BEE |HEH 14 13| 92.9% 2] 14.3% 11 78.6% 1 10 1 7.1%
BEE |HEE SR 0
BER | EEFNAEA RS RET 1 1] 100.0% 1| 100.0% 0 0.0% 0 0 0 0.0%
ERE |FFREEIET 16 14| 87.5% 6] 37.5% 6] 37.5% 0 6 4] 25.0%
BIEE |FFAMEERE 8 7] 87.5% 1 125% 6] 75.0% 4 2 1 125%
ERE |EZEANTFHE 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
TRE |AFNEFAE 0
FIEE [ENEAAEE 0
ZiEE  |[JtFEREILAT 1 1] 100.0% 0 0.0% 1] 100.0% 0 1 0 0.0%
ZRE |\EFNEEmRAT 2 2] 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%

it 1,739 1568  90.2% 846 48.6% 764  43.9% 73] 691 129 7.4%
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53 j= 2= = > O .
ZEEEMNREFEMRERO—N <Y T (Efk2243A31BEA)

EBERTR [ XETH )iiEE H93.3 218 e 25 HEAaY |23 22EE x| |ximE =
28 [Exmh 313 282]  90.1% 242  77.3% 56]  17.9% 24 32 15 4.8%
SHE [EFW! 3 3| 100.0% 1 33.3% 2]  66.7% 0 2 0 0.0%
SHE [R=TW 4 4[  100.0% 3  75.0% 1 25.0% 1 0 0 0.0%
SHE [mEH 5 5/ 100.0% 5 100.0% 0 0.0% 0 0 0 0.0%
28 [ti&EdH 7 7] 100.0% 6] 85.7% 0 0.0% 0 0 1 14.3%
SHE  [ZE%Th 5 5/ 100.0% 3|  60.0% 2]  40.0% 1 1 0 0.0%
SHE [BEH 2 2| 100.0% 1 50.0% 0 0.0% 0 0 1 50.0%
SHE | EiEFKE 1 1] 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%
SXE |mA+H 7 7] 100.0% 6] 85.7% 1 14.3% 1 0 0 0.0%
SHE [FEh 8 7] 87.5% 4  50.0% 4]  50.0% 4 0 0 0.0%
BHME [FXEm 7 7] 100.0% 6] 85.7% 0 0.0% 0 0 1] 14.3%
SEE  [REEBEEAT 0
SHE  [REEEFFIE 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
SHE  [REEHTE 0
SHE ([REETHA 0
SHE  [REEIIF 0
SHE  ([REEBEEH 0
SHE |[REBEFEH 0
S8 [EMEARILET 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
SE [RMEXZH 0
SHE [ HiERREIERT 0
S8 [HEEBXRIF 0
=R |EJIE DR 3 3] 100.0% 3| 100.0% 0 0.0% 0 0 0 0.0%
BHE [ENIEMZEIIE 0
S8 [SHE S T {£ET 0
S8 [SHERE)IET 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
S8 [SkEREANET 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
BHE [SEEEEE 0
BHE [SHEEASH 0
BHE [SkEEEEE 0
BHE [SkEEmE 1 2 2| 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%
L E 2 PN 0
BHE [HBLE=IEH 0
BRI 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%

Hi 372 340  91.4% 287| 77.2% 67| 18.0% 32 35 18 4.8%
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SEENELEREA—NT YT (Ef2243A31BEA)

HBERTR | R AT g | (BRE 7o
E 21 2% -
BEE [ LANGIAEE il 2| limm P2 may |#2  |eww IR | TEER g0
BEE [ EAMNBEAR i 64  90.1% 46|  64.8% 7 23o% 7 | |&mE |77
BEE [dEAMHFER p 29| 93.5% 21| 67.7% 8| 258% 6 13 8 113
BEE  [SEAMTAEER 45 42[ 91.3% 35| 76.1% 7| 15.2% 2 2 2 65%
EEE T ANT N EER - 160 90.4% 137] _ 77.4% 2| 141 5 : B S
ERE [ AMT/ ERK 32 84 90.3% 46  49.5% 34]  36.6% 7 2 15 85%
SRR [ ANH EBR e 29] 90.6% 23| 71.0% I I 13, 140
R (eehEx 7 79] 90.8% 58] 66.7% 19 21.8% 7 2 B4
R eEAREE = 87| 906% 42 438% Y T R
BEE [EEh PR 136 95| 90.5% 61 58.1% 30 286 a1 il 11.5%
LG Wb PLT T -z 123] 90.4% 78] 57.4% 38| 279 T 1429
fEEE  [{Emmrax 74 34l 900% 32| 53.3% 15| 25.0% 3 20| 14.7%
EEE EnRRE - 67| 90.5% 33]  446% T T I NS 3 2L
fEME  [EmmEEKX 106 391 90.7% 32| 74.4% 8] 18.6% 2 18 17.6%
BEE [AE@H o 9%l 90.6% 51 48.1% 7R T T 810
BEE _[AZk 72 45| 918" 32| 653 12] 2455 12 211 1984
BEME [Ehm - 65| 90.3% 54| 750% 1] 153% : 2 51024
BEE  [8RiFTh B 14| 93.3% 7| 46.7% 5] 33.3% : 2 7L_97%
BEE _[@)Ih 28 35 92.1% 23| 60.5% 184 : z 3 200%
BEE [0)lh 5 201 90.9% 16 72.7% 3| 136% : 3 8 2L.h
BmME [/\&h E 5] 100.0% 2] 400% 3 600% > 3 3 1364
el BB T 18 15]_93.8% 10| 62.5% 42504 ‘ g oox
BEE [Kl 8 8] 100.0% 18] 72.2% o[ i1 z . 2l 12.5%
BEE A 8 8| 1000 5| 6204 R 3| 167
el T G - 18] 90.0% 16] 80.0% o 1] 125%
el ME ik 1 20 90.9% 20 o0.9% i 45 g {2004
BEE [NBh - 10 909% 7 636% T : 119
EE R 1 15 93.8% 14| 87.5% T 63% 3 o __00%
BEE [HHh il 38 02.7% 26| 63.4% T T L 64
BEE _[ABHS 72 41 ot 29] 4.4 6 133 $ 5l 122%
BEE [REH 17 39|  90.7% 20  46.5% 7] 395 : : 10, 222
BEE |ATF 28 16| 94.1% 1] 64z T R 6| 140%
o, S i 27 26| 92.9% 25| 89.3% I 2| 1i8%
EHE Tain = 25 _92.6% 14| 519% o _33.3% 91 2 7%
R e 3 1] 93.3% 4 26.7% 8 baan 2 U 4| 148%
e EE S - 7| 100.0% 6] 85.7% 1 14.3% $ 8 3 20.0%
e Tean 10| 90.9% 9 818k B oox ! 0 o 00%
EEE lgan C 8 100.0% 4 500% 4| 500% 2 0 2| 182%
BER |5 bEh 6 7 1000% al 571 I of o00%
T BE Yo E % 6] _100.0% a 667 T of oo
EEE |55 A I A] 3 22| 100.0% 6] 72.7% A R 0, 004
BEL W aEh 5 AT 0 oo 1333 2 1] a5
EE lMemEem 5 5] 100.0% 3 60.0% 2| 004 s 1 2] 66.7%
B [ A Gl 9 71000 5 71.4% o o0 ! o 00%
R lMEmawE 1 o 100.0% 5| 556% YT S 0 2| 286%
BEE MRy = 5 L 1000, o oo o[ oo ‘ of oo
fBE% [ EALLET C 6 _100.0% 5| 833 RIS — 1] 1000%
BER e 5 21000 0 oo i 333 ‘ of 00
E el MBSt 57 10 ; 5 1000% 4 500 T 2l 667
*%IE“;% BB ERK AT 5 - 0 1 0 0.0%
b 10T SE T T : 5] 100.0% 3 600% 1 200% 0
fEREE | *’m TR RS A : 6] 100.0% 5| 833% 767 : 1 1] 20.0%
fEEE | i;igrsljxfrfrﬂn z 1] 100.0% 0 0.0% 1] T00.0% 0 s 0,00
BEE BT AT 5 S| 100.0% 2 6o.1s 1 333% ! of 00
L b I 0 1000 2 w00 0 oo
L |38 AR 5 ' . A
BEL | BAREEH 2 o 1000% 4l 800% i 2005 0
TBEN [= 5 EA VAR 1 ' : o
G WNES  Se : 1_100.0% 0 oo% T 700.0% 5
R /KRG 5 1| 100.0% 1] 100.0% ol 00% I 300
EEE  |F)I 25 EAT 1 5| 100.0% 3] 60.0% 1 200 0 s 0,00
el M A 0 1] _100.0% 1 100.0% o[ oo : 2004
1BEE (M) EHEE § = 0 0 0 00%
18 L[ )II 20 AT 0 °
1B |BIIEARE 0
R [E)IARFRAS 0
EEE Eﬂg e 10 o] 90.0% 9
SRR [ERER E o 90.0%
e e Kaia «‘o?un : o[ 100.0% 7| 778% s 2 1 o o0o%
TEE e - 5[ 125.0% 3| 750% 1 250% 0 2 22.0%
fEER [ LE e 2 2] 100.0% o oox T ] g oo
T SimEcw 3 3] 100.0% 1 33.3% T o__0o%
= 1 6]_100.0% 6] _100.0% o ook 0 2 g OO
852 1701]  91.8% 1,155] 62.4% 0 0 OM
. 4% 459 24.8% 150 309 238 12.9%
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HEEREO—RF <y (ER2243A31 ARE)

RIEEERE

HBERIR RATH mam | (BRI ge | ISV lue | HEsy (w2 s |[BIE 12
£ EEH 75 68  90.7% 50|  66.7% 22| 29.3% 12 10 3 4.0%
& EiEh 26 26| 100.0% 26| 100.0% 0 0.0% 0 0 0 0.0%
£ Effih 18 17]  94.4% 13]  72.2% 5| 27.8% 2 3 0 0.0%
& EY % 0
£ FEEH 2 2] 100.0% 1] 50.0% 1] 50.0% 1 0 0 0.0%
& g 1 1] 100.0% 1| 100.0% 0 0.0% 0 0 0 0.0%
£ BEEm 3 3] 100.0% 1] 33.3% 1] 33.3% 1 0 1] 33.3%
& N 9 9] 100.0% 7| 77.8% 2| 22.2% 2 0 0 0.0%
£ 1=¥r 0
& 5T 5 5] 100.0% 3] 60.0% 2| 40.0% 2 0 0 0.0%
& IS AR S By BT 2 2| 100.0% 1 50.0% 1 50.0% 1 0 0 0.0%
& =FEEEE LA 3 3| 100.0% 2] 66.7% 1] 33.3% 0 1 0 0.0%
& =FEERLEUSET 1 1| 100.0% 1| 100.0% 0 0.0% 0 0 0 0.0%
& =EEBAHAOEHET 0
& EING AL 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
& AR AR EH AT 1 1] 100.0% 1| 100.0% 0 0.0% 0 0 0 0.0%
£ eA=E PN 5 5] 100.0% 3| 60.0% 2| 40.0% 2 0 0 0.0%
& FEERTILET 2 2| 100.0% 1 50.0% 1 50.0% 1 0 0 0.0%
£ ea=riN=E=l] 0
HEE BEAAR 0

&t 154 146]  94.8% 12|  72.7% 38|  24.7% 24 14 2.6%
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HEEREO—RF <y (ER2243A31 ARE)

RIEEERE

I . s BEE |z T8IV | 2y = A o (23 | (REXIE |2/ a
EBERFE (HXETH i 2 H23.3 28 L% = FHEHY |FE 224 E k= | |ximig =
EIFE | Ri&H 113 109]  96.5% 109]  96.5% 3 2.7% 0 3 1 0.9%
RIFE [{A#HER 11 10|  90.9% 7] 63.6% 2|  18.2% 2 0 2|  18.2%
REIGE |BFE! 3 3| 100.0% 3| 100.0% 0 0.0% 0 0 0 0.0%
EBE [HEm 9 9] 100.0% 6]  66.7% 1 11.1% 1 0 2| 22.2%
RIFE | X#H 1 1| 100.0% 1| 100.0% 0 0.0% 0 0 0 0.0%
EBE |FFM 2 2| 100.0% 1 50.0% 0 0.0% 0 0 1 50.0%
RIS |#V#ET 5 5] 100.0% 3|  60.0% 2| 40.0% 1 1 0 0.0%
EIBE [xEh 0
EIFE |Sgh 0
EBE |FEW 0
RIGE |FEHEH 0
EBE [Ehm 4 4] 100.0% 2|  50.0% 2|  50.0% 0 2 0 0.0%
EIGE |SET 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
EIBE |FwESEBESHE 2 2| 100.0% 1 50.0% 1 50.0% 1 0 0 0.0%
FEIBE | ERasEHT 3 3| 100.0% 3| 100.0% 0 0.0% 0 0 0 0.0%
EIBE R E R AR 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
FEIFE  |RAEHFER) I [4HHET 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
EBE [HEEMERIERAT 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
EIBE  |dedEER/MEEET 0
RIBE  [de\EERE < BT 0
FEIBE |FRERF R SR | 0

&t 157 152]  96.8% 140] 89.2% 11 7.0% 5 6 6 3.8%
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ZEEEM RABEMRO—F T YT (F2243A31 BEE)

. - B&fE N T8I | 2y n = N o (23 | (REXIE |2/ a

0 X BTHT i 2 H233 /= EEs = FHEHY |FE 25 & k= | |ximig =

e BEAT 181 163 90.1% 157|  86.7% 11 6.1% 6 5 13 7.2%

[ J\FH 57 52 91.2% 47| 82.5% 6]  10.5% 4 2 4 7.0%

[ AEH 4 4] 100.0% 3] 75.0% 1] 25.0% 1 0 0 0.0%

[ HET 11 10[  90.9% 7| 63.6% 2| 18.2% 1 1 2| 18.2%

[ Kz 4 4] 100.0% 2] 50.0% 2] 50.0% 2 0 0 0.0%

[ E&H 4 4] 100.0% 4| 100.0% 0 0.0% 0 0 0 0.0%

A2 g 7 7| 100.0% 3] 42.9% 3] 42.9% 1 2 1] 14.3%

HeZ i 0

[ Fim 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%

HeZ LXEH 2 2| 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%

[ FiHm 9 9] 100.0% 9| 100.0% 0 0.0% 0 0 0 0.0%

e FAI % T 0

[ XEH 7 7| 100.0% 3| 42.9% 3] 42.9% 1 2 1] 14.3%

[ a&m 2 2] 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%

i TaEkARSE B HT 2 2| 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%

HEZ EXFIEXT) 2 2| 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%

A2 % 4% EREE RS AT 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%

HEZ T 2 BB RN ET 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%

A7 E £ BRF0/KET 0

HEZ 23 ;th BR A ET 3 3] 100.0% 3| 100.0% 0 0.0% 0 0 0 0.0%

A % th Bl 5 15 T 7 7] 100.0% 7] 100.0% 0 0.0% 0 0 0 0.0%

2 FAI 2% BB /N E BT 0

A2 RaTZ% B0 /] (= BT 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%

HEZ2 BAT 2% BB 2 (LI 4T 0

AeZ FaT 2% B = Fx BT 0

i RA 2% BB 7 I A% 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%

A2 T 2% B e B Sk A 0

HEZ L 5 AR S frn T 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%

A I ERE B BT 0

HEZ - 35 ER AR S AT 1 1] 100.0% 0 0.0% 0 0.0% 0 0 1] 100.0%

A b 2535 BB B A T 3 3] 100.0% 0 0.0% 3] 100.0% 3 0 0 0.0%

2 - 2R3 BN LI AT T 0

A J\ACERK )1 BT 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%

i EZ& =21 0

He 2 Z LRI I AHT 1 1] 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%

A2 Bk EZ ERER AT 0

A BREEER % B AHT 0

2 Bk EZ ER 5 AT AT 0

HeZ BREEER K E A 0

2 BREZERHE B 0

A BREEER A AA 1 1] 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%

HEZ BREERB LT 0

HeZ Bk BE BRBREE 4 1 1] 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%

[ BREEERp S U BT 0

|BE 2 XEASILET 1 1] 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%
&t 317 293  92.4% 260 82.0% 35  11.0% 23 12 22 6.9%
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HEEREO—RF <y (ER2243A31 ARE)

RIEEERE

I . s BEE |z TIEI | 2 n = A o (23 | (REXIE |2/ a

EBERFE (HXETH i 2 H23.3 28 L% 28 FHEHY |FE 224 E k= | |ximig =

AHR  |KXHh 42 37]  88.1% 12|  28.6% 25|  59.5% 9 16 5| 11.9%

AHE  |BIFFH 12 1] 91.7% 4|  33.3% 7] 58.3% 2 5 1 8.3%

A8 |hEH 2 2] 100.0% 0 0.0% 2] 100.0% 1 1 0 0.0%

AHE  |BAM 3 3| 100.0% 2| 66.7% 1] 33.3% 1 0 0 0.0%

X8 |[EET 1 1] 100.0% 1| 100.0% 0 0.0% 0 0 0 0.0%

XHE  |B#m 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%

AHE |EARH 0

AHE  |MHET 0

B |BERSHT 0

A8 |HET 0

AHE  |FET 0

A8 |Z2EXHH 0

AHE  |Bfm 0

A8 |EET 0

A8 |HREEEESH 0

AHEB |[EEERAHET 2 2] 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%

AOE  [AERERAEH] 0

AHE AR ERIATRAT 1 1] 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%
‘ 64 58|  90.6% 22| 34.4% 36| 56.3% 14 22 6 9.4%

47




ZEEEM RABEMRO—F T YT (F2243A31 BEE)

N . = BEE |24 TIEI | 2 n = s = |28FE | [REXIX | 2/0
EBERFE (HXETH i 2 H233 /= EEs = FHEHY |FE 25 & k= | |ximig =
=IBEE [=EH 147 133 90.5% 131]  89.1% 9 6.1% 3 6 7 4.8%
FIRE  [EREH 17 16]  94.1% 16]  94.1% 1 5.9% 0 1 0 0.0%
EIFE  [JERE™H 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
HIBE [A@mm 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
EIFE [/ 2 2] 100.0% 2] 100.0% 0 0.0% 0 0 0 0.0%
HIBE [AmEd 4 4] 100.0% 4| 100.0% 0 0.0% 0 0 0 0.0%
BIKE |[E/EH 0
FIFE  [FA#TH 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
=GR i%ﬁ%ﬂ)?ﬁ 1 1] 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%
EIFE  [JLEEEER= AT 0
HIFE  [FEEEEE IRAT 0
EIE [RESIEEAT 0
HIGE  [EREEIE ERAEAT 0
Eﬁk‘% L%;’i—ﬁrﬂ;%ffﬁm 2 2| 100.0% 1] 50.0% 1] 50.0% 0 1 0 0.0%
EIFE (R BEETEAT 0
IR [RBEAXEN 0
HIFE  [RSERAAT 0
=R  [RSER)IIEAT 0
HIFE  [RSERERES AT 0
EUSE  [EREIFFERFT)IAT 0
HIFE  [REIFEREEIEM 0
EIFE  [EREIVFERMEEEA 0
HIGE  [REIFFERSS AT 0
EIE  [FEMES TR 0
EUSE  [FAEIMFERE 2 ST 0
=SS (AR R S 0

&t 176 161  91.5% 157| 89.2% 12 6.8% 4 8 7 4.0%
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ZEEEM RABEMRO—F T YT (F2243A31 BEE)

I e R e e | 2%

SERIE | R ETH mam | (BRI ge | IV we | HEsy (w2 s |BIE| (XEXE|0s
B BERET 229 207  90.4% 158  69.0% 69|  30.1% 7 62 2 0.9%
U5l BEEH 4 4] 100.0% 2| 50.0% 1| 25.0% 1 0 1| 25.0%
I LI T 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
U5l BRI A AR T 0
I HK 5 5] 100.0% 5] 100.0% 0 0.0% 0 0 0 0.0%
U5l 5B ™ 0
B il i) 0
R EY/ 0
B BEEE)IIATH 13 12 92.3% 8]  61.5% 5] 38.5% 2 3 0 0.0%
I3 BEmH 6 6| 100.0% 4] 66.7% 1] 16.7% 0 1 1] 16.7%
I3 SRh 0
I3 BN 2 2| 100.0% 2| 100.0% 0 0.0% 0 0 0 0.0%
B LWsEBEAREHH 1 1] 100.0% 1| 100.0% 0 0.0% 0 0 0 0.0%
U5l ek il 0
I fodithodatl 0
B B'wEH 5 5] 100.0% 1] 20.0% 2] 40.0% 2 0 2| 40.0%
I AT 0
U5l RETH 1 1] 100.0% 1| 100.0% 0 0.0% 0 0 0 0.0%
I BETH 6 6] 100.0% 2| 33.3% 1] 16.7% 1 0 3] 50.0%
R EREH=5 0
I ERER+EH 0
R (FEEEE S DEHT 0
B H /K ER K E BT 0
U] 6 B AR B K ET 0
I ENS PN 0
R I EER R &£ B BT 0
B | /E BRER T RT 0
Ui | BT /= B A R AT 1 1] 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%
B | I 2 R AT 4=t BT 0
Ul REE B PIETHT 1 1| 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%
I HE E Al paiE AT 0
R REREASH 0
I AEBBAFNH 0
R AEBFEH 0
B AEEFEF NHET 0
U5l X B EREEERET 0
I A SAESET 0
U5l AEEE 2z ST 0
I PN =L 51:] 0
U5l X S EMFILET 0
I X SERF0;RET 0
B NC A ] 0
I A SR 5 RET 0

&t 275 252  91.6% 185| 67.3% 81| 29.5% 15 66 9 3.3%
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HEEREO—RF <y (ER2243A31 ARE)

RIEEERE

B#&iE

TR

235

REX

o 5 2y PLY = PLY PLY
X ETFt i 2 H23.3 28 L% = FHEHY |FE %% | |xmiE =

A AEFHEmH 106 106 100.0% 43|  40.6% 44|  41.5% 2 42 19]  17.9%
i BEHEH 12 12[  100.0% 5|  41.7% 6]  50.0% 0 6 1 8.3%
i AiEH 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
A AT 12 12[  100.0% 1 8.3% 8]  66.7% 2 6 3] 25.0%
3 X o 4 4] 100.0% 1] 25.0% 3] 75.0% 2 1 0 0.0%
i Himh 2 2| 100.0% 1] 50.0% 1] 50.0% 0 1 0 0.0%
i SR 12 12| 100.0% 3] 25.0% 7] 58.3% 2 5 2] 16.7%
A 2REH 6 6] 100.0% 2|  33.3% 4] 66.7% 0 4 0 0.0%
B 24Fh 5 5| 100.0% 2| 40.0% 3|  60.0% 0 3 0 0.0%
A =Tt 0
B i 1 1] 100.0% 1] 100.0% 0 0.0% 0 0 0 0.0%
A EISEERE SE 4T 0
i ESEER K B R AT 0
A EISEERER AT 0
i ESERS IR A 0
A EISEER A ERET 0
A [ESEER R kAT 1 1| 100.0% 0 0.0% 1] 100.0% 1 0 0 0.0%
H EISEER B BF EE AT 1 1] 100.0% 1| 100.0% 0 0.0% 0 0 0 0.0%
A E S5 ER £ T H] 1 1| 100.0% 1] 100.0% 0 0.0% 0 0 0.0%
A ESEER LA 0
i HEEAREE A # 0
H T EE AR 5= F AR AT 2 2| 100.0% 1] 50.0% 1] 50.0% 1 0 0.0%
i ThEEARJb 2 BT 4 4] 100.0% 1| 25.0% 3] 75.0% 3 0 0.0%
i T EEER AL g AE 0
i HHEE AR R AT 0
i rh 58 EB 76 [ BT 1 1] 100.0% 0 0.0% 1] 100.0% 1 0 0.0%
A ERES AR ET 2 2| 100.0% 1 50.0% 1 50.0% 0 0 0.0%
b 5 5 2R A Bl IR ] 2 2| 100.0% 0 0.0% 2| 100.0% 2 0 0.0%
i SRENEE A 0
i & 7B EE R kA 0
i SR REF 0
i EREEAEN 0
B SRA AR 1 1] 100.0% 0 0.0% 1] 100.0% 0 0 0.0%
i EREILKREH 0
i SERBFFEEHN 0
i ERBFEAH 0
i SREA K SHET 0
i BFRER/\ = HERT 2 2| 100.0% 0 0.0% 2] 100.0% 1 0 0.0%
A ELE % RBEA 0
i NE BT EET 0
E \E ILERS BREET 0

&t 178 178 100.0% 65| 36.5% 88| 49.4% 76 25  14.0%
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